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Do not open this Test Booklet until you are asked to do so.
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Read carefully the Instructions on the Back Cover of this Test Booklet.
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This Booklet contains
48 pages including
Rough Page.
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(a) STUTT A & Yk fawa # 35 (Udw ) (Uo7 &1
¥ 35, 51 9@ 85, 101 ¥ 135 WA 151 & 185)
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Important Instructions :

1. The Answer Sheet is inside this Test Booklet. When

you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars on ORIGINAL Copy
carefully with blue/black ball point pen only.

2. The test is of 3 hours 20 minutes duration and the Test Booklet
contains 200 multiple-choice questions (four options
with a single correct answer) from Physics, Chemistry
and Biology (Botany and Zoology). 50 questions in
each subject are divided into two Sections (A and B)
as per details given below :

(a) Section A shall consist of 35 (Thirty-five) Questions
in each subject (Question Nos — 1 to 35,
51 to 85, 101 to 135 and 151 to 185). All questions
are compulsory.

(b) Section B shall consist of 15 (Fifteen) questions in

each subject (Question Nos — 36 to 50, 86 to 100, 136
to 150 and 186 to 200). In Section B, a candidate
needs to attempt any 10 (Ten) questions out of 15
(Fifteen) in each subject.
Candidates are advised to read all 15 questions
in each subject of Section B before they start
attempting the question paper. In the event of a
candidate attempting more than ten questions, the
first ten questions answered by the candidate
shall be evaluated.

3. Each question carries 4 marks. For each correct response,
the candidate will get 4 marks. For each incorrect
response, one mark will be deducted from the total
scores. The maximum marks are 720.

4. Use Blue/Black Ball Point Pen only for writing
particulars on this page/marking responses on Answer
Sheet.

5. Rough work is to be done in the space provided for this
purpose in the Test Booklet only.
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In case of any ambiguity in translation of any question. English version shall be treated as final.
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Physics : Section-A (Q. No. 1 to 35) |

1 In a uniform magnetic field of 0.049 T, a magnetic
needle performs 20 complete oscillations in
5 seconds as shown. The moment of inertia of the
needle is 9.8 x 107 kg m?2. If the magnitude of
magnetic moment of the needle is x x 1075 Am?;

then the value of ‘x’ is :

(1) (2) 1280 n?
3) 4) 1287°
2 Given below are two statements: one is labelled

as Assertion A and the other is labelled as

Reason R.

Assertion A : The potential (V) at any axial point,
at 2 m distance(r) from the centre of the dipole

%
of dipole moment vector p of magnitude,

4x100Cm,is +9x10° V.

1 9
(Take 3= 9x10” S[ units)

Reason R ;: V=%

2P

dneyr

, where r is the

distance of any axial point, situated at 2 m from

the centre of the dipole.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Aistrue but R is false.

(2) Ais false but R is true.

(3) Both A and R are true and R is the correct

explanation of A.

(4) Both A and R are true and R is NOT the
correct explanation of A.

3 Match List I with List II.

ListI
(Spectral Lines of
Hydrogen for
transitions from)

A, m=3ton=2
B. m=4ton =2
C. m=5tonm=2
D. npy=6ton =2

List IT
(Wavelengths (nm))

I. 4102
II. 434.1
1. 656.3
IV. 486.1

Choose the correct answer from the options given

below :

(1) A-1V, B-IL, C-I, D-II
(2) A-L, B-IL, C-III, D-1V
(3) A-IL, B-I, C-1V, D-III
(4) A-IIL B-1V, C-II, D-I
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(2) 1280 n?
4) 1287°

(M
3)

il & U I T ¥ e b e A q gE bl
&t R & fafea fman @ 81

AF A 2 4 x 1076 C m ufemmn, faga smeef afesr

P fea A 2 W () R e g AT
g +9x103 ¥ %

—9x10°
dn e SI Hrereh)

2P o
FR: V=t —— Wi, fgga s d=d2m
drnegr

&l gl ox Rura ot fag AT Q2

YRS BUAT b SR U, T 5 T faepedt & @&
ST g

(1) A Gz utg R T@d 1

(2) A7Ed e Uty R A3

(3) TIAATRGE T au R, A Pl TE =T B |
(4) IMATRTEE quT R, A &l & e 7w B

Al 1 o1 gt 1 & frae it

T 1 T 11
(Fr=fofaa @i & (@@teed (nm))
HEAN o ToTT Eggo
1 el TEm)
A my=3am=2 L 4102
B. my=43dn=2 . 434.1
C. m=5anm=2 . 656.3
D. ny=63n=2 IV. 486.1
e few U fqeedl | /€ SOX g

(1) A-1V, B-IL, C-I, D-II
(2) A-L, B-II, C-III, D-IV
(3) A-IL B-L, C-1V, D-1II
(4) A-IIL, B-1V, C-I1, D-1
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The maximum elongation of a steel wire of 1 m
length if the elastic limit of steel and its Young’s
modulus, respectively, are 8 x 103 N m2 and
2x 100 Nm=2, is:
(1) 40 mm

(3) 4mm

(2) 8 mm
4) 04 mm

Two bodies A and B of same mass undergo
completely inelastic one dimensional collision.
The body A moves with velocity v, while body B
is at rest before collision. The velocity of the
system after collision is v,. The ratio v{ : v, is :

(1) 4:1 2) 14

3) 1:2 “4) 2:1

In a vernier calipers, (N + 1) divisions of vernier
scale coincide with N divisions of main scale. If
1 MSD represents 0.1 mm, the vernier constant
(incm) is :
(1) 100N 2) 10(N+1)

1 1

&) Tow @ o)

A thermodynamic system is taken through the
cycle abcda. The work done by the gas along the

path bc is :
P A
300 kPaf - - - &< ¢
v <N
100 kPaf - - - 45— b

1 L N
100 cm3 400 cm3 ”

| s
(1) —90J (2) —60J
(3) zero 4) 307

A wheel of a bullock cart is rolling on a level
road as shown in the figure below. If its linear
speed is v in the direction shown, which one of
the following options is correct (P and Q are any
highest and lowest points on the wheel,
respectively)?

P
v
4
(1) Both the points P and Q move with equal
speed.

(2) Point P has zero speed.
(3) Point P moves slower than point Q.
(4) Point P moves faster than point Q.
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1 i IS o T o AT i T bl TR AT e
TEHT JARRIAT [T %A § x 108 N m=2 qan
2 x 101 N m2% qf 39 ar &l @=s ¥ ghg #:

(I) 40 mm (2) 8 mm

(3) 4mm 4) 0.4 mm

A FEH & o [Uvs A 9 B quiqan SiieiT Th
fenita dag &ed €1 @ag § @@ fuvs A 9 v, | Tifa
HIAT & Siaih uvs B foym # 21 €@z & gyaq e
B AT v, TSIV, @ v, &

(1) 4:1 Q) 1:4

(3) 1:2 4) 2:1

Teh AT helud & af+at 39 & (N + 1) @™l &
A e T & N @l % 7 6 9K § 1 31 e
T % TH @™ &1 AW 0.1 firdt & ar affer e
(@ #) &
(1) 100N (2) 10(N+1)

1 1

®) Tow @ Toov+)

Th SN b & qebid WhH abeda & & ST
ST ¥ 1 be UF % SRSt T BT B B 3

P AN

Tl

300 kPaf ---

N

Y
o

100 kPaf - - - 17

100 cm3 400 cm3 ”

V—
(1) —90J 2) —-60J
() = 4) 30J

T JES! BT giedl fos gER Ue §9ad a8% UX
o @1 & | afs foars 78 fean 7 @ @ 9@ v El
ar frrefaRaa o o @ ar faeer 921 8 (3% X P 3l
O HHST: B3 ITaad Td <IAaH 195 2 1)

(1) IFifeg P QadAH I & 7Tfd & & |
(2) fog P o = B

(3) g P fag O & o wifa & 2

(4) &g P g O & ot Wil & 2
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A bob is whirled in a horizontal plane by means
of a string with an initial speed of ® rpm. The

tension in the string is 7. If speed becomes 2 ®
while keeping the same radius, the tension in the
string becomes :

(D% @ o1
3 T 4) 4T

A light ray enters through a right angled prism at
point P with the angle of incidence 30° as shown
in figure. It travels through the prism parallel to
its base BC and emerges along the face AC. The
refractive index of the prism is:

B
5 N
1 — 2) —
M @ 3
V5 V5
3) — 4) —
® @
Match List-I with List-I1.
List-1 List-11
(Material) (Susceptibility (7))
Diamagnetic L x=0
Ferromagnetic II. 0>yx=>-1
Paramagnetic L. x>>1
Non-magnetic IV. 0<y <€ (asmall

positive number)
Choose the correct answer from the options given
below:
(1) A-IL B-IL, C-1, D-1V
(2) A-1V, B-lIL, C-11, D-1
(3) A-IL B-III, C-1V, D-1
4) A-Il, B-L, C-lII, D-IV

If x=S5sin (m + %) m represents the motion of a

particle executing simple harmonic motion, the
amplitude and time period of motion, respectively,
are :

(I) Sem, 1s
3) Sem,2s

(2) 5m,1s
(4) 5m,2s
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T MW Bl I & Aferet O A 36 Wb FATAT STl &

fep 3T yftyd a1 O rpm ¥ 1S F qE TR 1Ak
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9
SEICRIRIE
T
(N I
G) T
10

) 2T
(4) 4T

T ehIeT fopeer gHaiviE e % fag P W 30° %

AT BIVT T T BTl & o e Fasr & goman man & |
g firoq % ana BC & g9t 9adl AC 9dE &
arfeseT urTfi B ¥ 1 e a1 sruad @

11 g o g 1o B
I

%)
giag=aE
e gEBE
gD
gD

(=t
A.
B
C
D

HINTT:

x>>1

O<y <€ (T g&q
YHTHD TE&AT)

e R T el @ W o g

12

A-III, B-II, C-1, D-IV
A-1V, B-III, C-II, D-1
A-11, B-III, C-1V, D-1
A-I1, B-1, C-111, D-IV

afs x=55in(7’tt+§jm T ST i B g T

YT hl Tl bl WG BTl &, T T STRITH qeT Sfrad

BT HA: &
(I) Sem, 1s
(3) Scem,2s

2) S5my1s
4 5m,2s
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Consider the following statements A and B and
identify the correct answer :

A. For a solar-cell, the I-V characteristics lies
in the IV quadrant of the given graph.

B. In a reverse biased pn junction diode, the
current measured in (uA4), is due to majority
charge carriers.

(1) Both A and B are correct.

(2) Both A and B are incorrect.

(3) A s correct but B is incorrect.

(4) A is incorrect but B is correct.

In the following circuit, the equivalent capacitance
between terminal 4 and terminal B is :

2pF 2pF

it J_ I
Ao—] 2pF —o B
1 1 I
2uF 2pF
(1) 0.5pF 2) 4pF
() 2pF 4) 1pF
N, 1

In an ideal transformer, the turns ratio is — = 5"
N

The ratio V: Vp is equal to (the symbols carry

their usual meaning) :

(1 1:1 2) 1:4

(3) 1:2 @) 2:1

A thin flat circular disc of radius 4.5 cm is placed
gently over the surface of water. If surface tension
of water is 0.07 Nm™!, then the excess force
required to take it away from the surface is :

(1) 1.98mN (2) 9N

(3) 19.8 mN (4) 198N

A wire of length °/° and resistance 100Q is
divided into 10 equal parts. The first 5 parts are
connected in series while the next 5 parts are
connected in parallel. The two combinations are
again connected in series. The resistance of this
final combination is:

(1) 55Q
(3) 260

(2) 600
4) 520
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frfatad g A 9 B &l @t 9ol sax g

A. A & foe -V erfrenefime i W& o &
oY Tguie 7 B §

B. TohH STHAA pn S SIS H 49T SgH&®
AT aATER % BT () o J1hr Sl = |

(1) I AaBaEHE]

(2) I ATBIEAdE|

(3) A@d?udBwd I

(4) ATedE ud BEEEI

i uftuy & < 4 9 <ffw B % 99 g
e &

2uF 2uF
1 J_ ]
Ao— 2 uF —o B
i 1 I
2uF 2uF
(1) 05pF ) 4uF
(3) 2pF @) 1pF

T oTest ZEmHT # B B HEnstl &1 ST U
N
#=%%IWVS:VPWW%?(WW

N

vated o1 wer foma T ¥)
(1) 1:1 (2) 1:4
3) 1:2 4 2:1

4.5 THT TI91 &l U I% q9ae gaThiX aebdl bl
T Bl T X 9N & @ T T 21 At a B s
T 0.07 Nm~! 21 At 38! Ol &1 6ae & 37T &L

% foTu sravgs sy 5@ &
(1) 1.98mN 2) 99N
(3) 19.8mN (4) 198N

I @Ts qUr 100 Q WiTE % Ueh aik @l 10 90ay
it # oo femam T & 1w S e @l Soties ®
TAT qIHB 5 9T BT FHRAK A | ST T 7| QAL
TN T G: SUThH § SST 141 & | 39 ST Fars
T wieae &
(1) 55Q

(3) 260

(2) 60Q
4) 520
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The quantities which have the same dimensions
as those of solid angle are :

(1) strain and arc
(2) angular speed and stress
(3) strain and angle
(4) stress and angle
- - — - -
v
A ]B C -ID

Solenoid - 1 Solenoid -2

In the above diagram, a strong bar magnet is
moving towards solenoid-2 from solenoid-1. The
direction of induced current in solenoid-1 and that
in solenoid-2, respectively, are through the
directions:

(1) ABand CD
(3) ABand DC

(2) BAand DC
(4) BAand CD

The terminal voltage of the battery, whose emf is
10V and internal resistance 1 Q, when connected

through an external resistance of 4 Q as shown
in the figure is :

40
e AAAA e
N 4
CL 19,
— —
Jov .
(1) 8V ) 10V
3) 4V 4 6V

1
The graph which shows the variation of (?]

and its kinetic energy, E is (where ] is de Broglie
wavelength of a free particle) :

1A 1
(1) 2 A2
ToLE LZ
1 1
Q) 3z 4 32 \
. TJ
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& AT Rt fammd == ior % 9 §:
(1) faepfa dor =m
(2) ®IE T quT widad

(3) fagpfa T i
(4) wiqas qur @i

I eI

S o5l 9 U a8 gEe dienas—1
gfATfeR—2 @l SR T &Y @ & | ufianiae—1 &
ofd g &t feen qur aftfaer—2 & afa e @t
feom swer: fEgmen # &:
(1) ABwd CD
(3) ABud DC

(2) BAwEDC
(4) BATECD

1Q srdfes gferer aeam 10V fa.ar. sa & 928 @
R diees @1 & 99 39 fad oA 4 Q % S
giaay & SeT ™ E:

A4Q
/N A4
."l'l“‘ifi‘.
Jov .
(1) 8V 2) 10V
(3) 4V 4) 6V

1
Wﬁ%ﬁww[;}awwﬁnﬁawﬁ@

% AR I 3TaT & (STeT | Web T ®YT bl ST STl
qaree %) ¢

1A L
() »@ i (2) a2
E E TO E
1 1
3) 1 f 4) 7‘\
0 T
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If ¢ is the velocity of light in free space, the correct
statements about photon among the following
are :

The energy of a photon is £ =hv.
The velocity of a photon is ¢.

© >

h
The momentum of a photon, p = .
C

C

D. In a photon-electron collision, both total
energy and total momentum are conserved.

E. Photon possesses positive charge.

Choose the correct answer from the options given

below :

(1) A, CandD only

(2) A,B,DandE only

(3) AandBonly

(4) A,B,CandD only

e+

ox—2sy—¢ 57 ,p°¢ 50
In the nuclear emission stated above, the mass
number and atomic number of the product QO
respectively, are :
(1) 288,82
(3) 280, 81

(2) 286, 81
4) 286,80

At any instant of time ¢, the displacement of any
particle is given by 27— 1 (SI unit) under the
influence of force of 5N. The value of
instantaneous power is (in SI unit):

(1 7 2) 6

(3) 10 @) 5

The moment of inertia of a thin rod about an axis
passing through its mid point and perpendicular
to the rod is 2400 g cm?2. The length of the 400 g
rod is nearly :

(I) 20.7cm (2) 72.0cm

(3) 85cm 4) 17.5cm

If the monochromatic source in Young’s double

slit experiment is replaced by white light, then

(1) there will be a central bright white fringe
surrounded by a few coloured fringes.

(2) all bright fringes will be of equal width.

(3) interference pattern will disappear.

(4) there will be a central dark fringe surrounded
by a few coloured fringes.
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gig gl STBIT | Tb1eT &1 AT ¢ 8, BT & g
fFrrfafaa & @@t Ho &

A, WIRE ®H el E=hv #)

B. WREH AT ¢ Tl

C. I & G p:ﬂ .

C
D. WieH-30eM §9g ¥, Al $d Sl I Hd T
T & )
E. WM X g9Tdh SISl ST 2 |
frrfafaa T @ @ét sav ghmw:
(1) @A, CaD
(2) ¥%a@A,B,DTE
(3) *%a@ AdaB
(4) HawA,B,CaD

+

e

20y_a y_¢e 7 B op

82 >0
U AT ST b (1T SeaTs O bl G| T
g YY) I HHI: &
(1) 288,82

(3) 280, 81

(2) 286,81
(4) 286, 80

TR &7 1 9T SN 9@ & 3Tl fehaT o el fereamus
2t — 1 (ST = ) feam wan & | etfvres ifert a1 =1 (S

= ®) 3
1y 7 2) 6
3) 10 4 5

U Iadl BS H1 360% AL (95 9 oI Il BS &
TR 378 % Ufd: e 3egur 2400 g cm? %1400 g
DI BT B TS TIHT &

(1) 20.7cm (2) 72.0cm

(3) 8.5cm (4) 17.5cm

gfg 4 f B3l wai & uaauil & @l 93d w9
gfafda & fean e arn:

(1) oo GiF fhstt & Bt e <t o=t Bhst s
(2) T it fesl a9 deTg &1 e

(3) afaeBToT UTEY 3159 BN

(4) Po T Bhe & Rl wa ordifa i e &
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A thin spherical shell is charged by some source.
The potential difference between the two points
C and P (in V) shown in the figure is:

1

=9x10° SI units)
dn e,

(Take

(1) 0.5x10°
(3) 3x10° (4)

(2) zero
1x10°

The output (Y) of the given logic gate is similar
to the output of an/a :

A—1]
B

(1) OR gate
(3) NAND gate

(2) AND gate
(4) NOR gate

A logic circuit provides the output Y as per the
following truth table :

- o = ol
o = o —|~

The expression for the output Yis :
M B 2 B
() AB+4 (4) AB+4

A tightly wound 100 turns coil of radius
10 cm carries a current of 7 A. The magnitude of
the magnetic field at the centre of the coil is (Take

permeability of free space as 47 x10~ SI units):
(1) 44mT 2) 44T
(3) 44 mT 4) 44T
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Teh Tl AT BigT fohet i &1 srafda fean
T 1afiia fas % s &1 fasgelt C 9 P o e fawarx
@ )

(Rt —

=9x10° SI wr=re ¥)
dn e,

(1) 0.5x10°
(3) 3x103 4)

2) T
1 x 103

o T @it afvay @1 ffa (1) feas frta &
g &

A—]

Y
B
(1) OR7e (2) AND 7z
(3) NAND e (4) NOR e

frrefaiad gar el & JTER Uh @iisd 9y
frrfa ¥ we @t &

A|B|Y
001
0f1 |0
1 10 |1
1 |1 1]0
forta Yo fore <o &
() B (2) B
(3) AB+4 (4) AB+4

10 & Broam ol e foar 100 WY arell T ot
# yared 9T 7 A $1HSal % b5 U JEHI & B

afaror & (Rem %, Frarfa ot greeiieran = 4nx 107
SI A1) -

(1) 44mT
(3) 44mT

(2) 44T
(4) 44T
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The mass of a planet is % ththat of the earth and

its diameter is half that of the earth. The
acceleration due to gravity on that planet is :

(1) 49ms2 (2) 3.92ms>2

(3) 19.6ms2 (4) 9.8ms2

A particle moving with uniform speed in a circular
path maintains :

(1) constant velocity but varying acceleration.
(2) varying velocity and varying acceleration.
(3) constant velocity.

(4) constant acceleration.

A horizontal force 10 N is applied to a block 4 as
shown in figure. The mass of blocks 4 and B are
2 kg and 3 kg, respectively. The blocks slide over
a frictionless surface. The force exerted by block
A onblock Bis :

F=10N 3i
3 2kg £
77 7/ 4 777 777777
(1) 6N 2) 10N
(3) zero 4) 4N

An unpolarised light beam strikes a glass surface

at Brewster’s angle. Then

(1) Dboth the reflected and refracted light will be
completely polarised.

(2) the reflected light will be completely
polarised but the refracted light will be
partially polarised.

(3) thereflected light will be partially polarised.

(4) the refracted light will be completely
polarised.

Given below are two statements :

Statement I : Atoms are electrically neutral as

they contain equal number of positive and

negative charges.

Statement II : Atoms of each element are stable

and emit their characteristic spectrum.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Statement I is correct but Statement II is
incorrect.

(2) Statement I is incorrect but Statement II is
correct.

(3) Both Statement I and Statement II are
correct.

(4) Both Statement I and Statement II are
incorrect.
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T U8 I FHHM YT & FHHN Bl %Eﬁ‘mﬂ%am
THHT ATH YAl & AT B ST 2 | 3 T§ U [H@T
T

(1) 49ms2
(3) 19.6ms2

(2) 3.92ms>2
(4) 9.8ms2

Teh JATHR 98 YT UHEH ATd § TH Teh HOT S
EATE -

(1) FrEa 3 wg aheEdt @

(2) ufeEt 4 we afEdt @

(3) fraaam

4) fraa @

wafdfa fasr & wa et Aux 10 N &fas 9@ emifua
fopa STTaT 31 [t 4 T B % FeAE wEsn 2 feu @
3 fopm 31 b Uk guvRfEd a@ % S Ragend F |
TeHT A BT T[T B I AT 741 §d &

F=10N 3113;g
E 2kg
7 7 7. 777 777777
(1) 6N ) 10N
3 g3 4) 4N

Teh YT Teh191 Yl fehell Hidl ! Tefe U R bIol

TR THA & | T

(1) < grmafid 9 safda yerer gofa: gfaa 2

(2) A TSt QU gfead R St Jetet
arifres gferd 2

(3) uafda wereT atifdte gfaa srm

(4) eraafaa yensr gofa: gfed Bl

i 2 wu feu e
F 1 : TXA] YT IS B & Hifh 399 a9
&1 § 9IS qUT FOTTHD STE9T 8l & |

o 11 : Y% O o AT W1 B & qeT U
aifeTTerfTe WergH Seiid B & |

USRI BUAT % SMER X, 1 fau 1 et § 9
KESESIEE AT R Leg

(1) a9 5 aig ®u 1 Tad 2 |

(2) ¥ 17Ed & aig A 1 &l 7

(3) ®uA 1T &y I 3T T2 B

(4) ®u1a HIA 1 I Ted |
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[fthe plates of a parallel plate capacitor connected
to a battery are moved close to each other, then

A. the charge stored in it, increases.

B. the energy stored in it, decreases.

C. its capacitance increases.

D. the ratio of charge to its potential remains

the same.
E. the product of charge and voltage increases.
Choose the most appropriate answer from the
options given below:
(1) B,DandEonly (2) A,B andC only
(3) A,BandEonly (4) A,CandE only

The following graph represents the T-V curves of
an ideal gas (where T is the temperature and V’
the volume) at three pressures P, P, and Py
compared with those of Charles’s law represented
as dotted lines.

V— . .
Then the correct relation is:
() B>R>P (2 R>P>R
3) P>PK>R (4 R>P>P

Choose the correct circuit which can achieve the
bridge balance

ey

3)

A sheet is placed on a horizontal surface in front
of a strong magnetic pole. A force is needed to :

A. hold the sheet there if it is magnetic.

B. hold the sheet there if it is non-magnetic.

C. move the sheet away from the pole with
uniform velocity if it is conducting.

D. move the sheet away from the pole with

uniform velocity if it is both, non-conducting
and non-polar.
Choose the correct statement(s) from the options
given below:
(1) A,CandDonly (2) Conly
(3) BandDonly (4) AandC only

T6_Hindi+English |

10

36

37

38

39

g T 92l & IS THIRI I G & <12 T gaL
@I 317 I el ¥, e

A. o dfaq Smaet Seal &

Tav dfad ot e @

TH! 1T Sedl §

. TE%P AT TAT NS BT STIUTT G Tl &
E. 3AeT qo1 dieesl &1 OH%hd 96l §

T & T faeedt & wed sfad s giw:

(1) ¥3@B,DIE (2) %A@ A,BaC

(3) @A, BIE (4) Fa@ A, CaE

B
C.
D

frfafad a6 % U seel 19 & dF qEl Py, Py |
PR T-V 356 YR et & (STet T areHT, V amas)
fraent e Frem &t fawg T gra gan &l 78 31

a9 GE g9 &
(1) P>R>P
3) AB>hKh>HR

@ R>P>h
4) R>P>P

Ig uftgy g St fret ot avga uTd & 9

)

3) “4)

T ISl G Y % M Teb aifcst q@ 9¢ U a1aT
@ TS ¥ | U 9 ST B

A. I gE gk ¢ I I1ET Bl T81 W& & A
Ifs I8 g & a1 I1eT Bl I&l @ & fog
qfs I% I1ee & a1 T1a% Bl Yd ¥ X THAI AT
YT I & fog

g e Farad Ud Tgfad & a1 a1el & ga o I
THEAM AT F T T & fog

A o el @ 921 %a g

(1) @A, CaD (2) Haw C

(3) ¥A@BAD (4) ¥a@ATC

B.
C.

D.
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A parallel plate capacitor is charged by connecting
it to a battery through a resistor. If I is the current
in the circuit, then in the gap between the plates :
(1) displacement current of magnitude equal to
I flows in a direction opposite to that of 1.
(2) displacement current of magnitude greater
than I flows but can be in any direction.
(3) there is no current.
(4) displacement current of magnitude equal to
I flows in the same direction as I.

A small telescope has an objective of focal length
140 cm and an eye piece of focal length 5.0 cm.
The magnifying power of telescope for viewing
a distant object is:

(1) 17 2) 32

3) 34 4) 28

The velocity (v) — time (¢) plot of the motion of a
body is shown below :

o—>v(ms™)

1) —
The acceleration (a) —time (¢) graph that best suits
this motion is :

>a(ms?)
sa@ms?)

() 0 t(s)~> ) 0 t(s)—>

4

sams?)

0 t(s) — “) 1) —

A metallic bar of Young’s modulus,
0.5 x 101N m~2 and coefficient of linear thermal
expansion 107 °C—1, length 1 m and area of
cross-section 1073 m? is heated from 0°C to 100°C
without expansion or bending. The compressive
force developed in it is:

(1) 100 x 103N (2) 2x103N

(3) 5x103N (4) 50x103N

A 10 pF capacitor is connected toa 210 V, 50 Hz
source as shown in figure. The peak current in

the circuit is nearly (7 =3.14):

210 7,50 Hz
(1) 1204 (2) 0354
(3) 0.584 (4) 0934
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Teh FHTL << TS bl Teb WG &7 T 90 &

e Aty fean Tan ¥ 1 afg ufag & e & ar

w2l & 9 e § —

(1) Tar fauda feem & 1 S gt &) faeamas
T JaTted &l & |

(2) fordir o foom & uxeg 1 9 etfres ufemmor &t ferema=
T JaTted &l & |

(3) i3 & E ¥

4) ;;r%mgwaﬁwﬁwmwﬁrw%mﬁ

|

T GeH GIEINT & SATHGIaD e bl Bichd gl 140 T
T AT B wied U 5.0 T T X Red agg A
3@ % T qastt ol smads e

(1) 17 (2) 32

3) 34 4) 28

Teh TG, I Tl BT T (v) — | (£) I T Fafdf #:

o—>v(ms™)

4
=

ts) —
% fou g=q sfad @ (a) — 999 (1) T &

>a(ms?)
sa@ns?

0 t(s)~>

4

M

N

>ams?)
>a(ms?)

) O RS C) B payes s

4 N

0.5 x 101 N m~2 g1 yegeeran Tories @ 105 °C-!
T Sy ories a1 A @ g 1073 m2 srwe
ufies & Bl T Gt 8% & 0°C & 100°C a6
i%m%ﬁlﬁﬂmtﬁs%vﬁﬁww%ls@fwﬁdﬁa
dd T

(1) 100x103N  (2) 2x103N

(3) 5x103N (4) 50x103N

T 10 uF & i &l fos sigar w210 V, 50 Hz
Hid T SIS T % | 99y § € ol e 9 @

(n:3.14):

210 7,50 Hz
(1) 1204 (2) 0354
(3) 0.584 (4) 0934
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Two heaters A and B have power rating of 1 kW
and 2 kW, respectively. Those two are first
connected in series and then in parallel to a fixed
power source. The ratio of power outputs for these
two cases is:
(1) 1:2

3) 1:1

2) 2:3
4) 2:9

A force defined by F = or? + Bt acts on a particle
at a given time 7. The factor which is
dimensionless, if o and 3 are constants, is:

(1) apr @ b/

@ P/ @ %%

The property which is not of an electromagnetic
wave travelling in free space is that :

1

they travel with a speed equal to m .

they originate from charges moving with
uniform speed.

they are transverse in nature.

the energy density in electric field is equal
to energy density in magnetic field.

(M
)

3)
4

An iron bar of length L has magnetic moment M.
It is bent at the middle of its length such that the
two arms make an angle 60° with each other. The
magnetic moment of this new magnet is:

M
() 2M @ 5

M
3) M 4) >

If the mass of the bob in a simple pendulum is
increased to thrice its original mass and its length
is made half its original length, then the new time

X
period of oscillation is = times its original time

2
period. Then the value of x is:
() 243 @ 4
3) V3 @ 2

The minimum energy required to launch a satellite
of mass m from the surface of earth of mass M
and radius R in a circular orbit at an altitude of
2R from the surface of the earth is:

GmM GmM
M 5z @ 3%

5GmM 2GmM
(€ ) @ 37
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A ERTAT B & ot g AT | kKW aan2 kW19
T TEd O BH § qur R IR % § Ud Rux
QTR N & 91 911 & 139 <t Rarferat & b arferrat

&I STIC
(1) 1:2 2) 2:3
(3) 1:1 4 2:9

F = at? + Bt &R0 afvaite we oot el 1 e £ o)
Teh YT U ST BT 8 191E o a4 P Fraraies &1 ar
o o ¥ o a1 ued o R 7

(1) apr @ &/

e P @ %

TR SIS & wAd fegd R T § I |1 e
&I B :

(1) aﬁﬁwwaﬁm%
(2)

3)
4

I THIHN AT § TGHM S &R S
BRI

q IR TG Bl E |

I & H Tl A, FEHF A § Fol g9
% T BT E

L TS %l U @ie B g & b sTgs M 2|
g AT b AL § 39 UbIK HIST 741 & T a1 g
e A % A1 60° BT BV T & | 36 75 b Bl

B T 3

(1) 2M

NE]

M

4

2
s T AT A H D D1 FHH 38 o AT
% W 7 O ST T STt & 1 9! URie darg
el B & 9, A7 QA Bl AT STadhd WRRHG

2

3) M

ngwﬁw%la@xww%z

() 243 ) 4
3) 3 4 2
M 5=q= qan R Broan &Y gl & ad § 2R $a1E WX

Rorq te gaER w1 A m I & RE SWE B
JeAT O & TETIT BT % @0 AT Saeadh ol 5
GmM GmM
M Sr ® Sp
5GmM 2GmM
() T6r @) 73R
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Chemistry : Section-A (Q. No. 51 to 85) |
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Among Group 16 elements, which one does NOT
show —2 oxidation state?

(1) Te 2) Po

3) O 4) Se

The highest number of helium atoms is in
(1) 4 gofhelium

(2) 2.271098 L of helium at STP

(3) 4 mol of helium

(4) 4 uof helium

Given below are two statements:

Statement I : The boiling point of three isomeric
pentanes follows the order

n-pentane > isopentane > neopentane
Statement II : When branching increases, the
molecule attains a shape of sphere. This results
in smaller surface area for contact, due to which
the intermolecular forces between the spherical
molecules are weak, thereby lowering the boiling
point.

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) Statement I is correct but Statement II is
incorrect.

Statement I is incorrect but Statement II is
correct.

Both Statement [ and Statement Il are correct.
Both Statement I and Statement II are
incorrect.

)

3)
4

L is consistent with

Which plot of In k vs =

Arrhenius equation?

NN
a = @ =
%—) -
1 T/
3) 21/ @ =
IS 5
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T 16 T@ § | BHIT—a1 —2 SATRIH 0T e T
gorfar & ?

(1) Te 2) Po
3 O 4) Se
Bifera qrETogat i STfhan WE &
(1) dfem®s4gH

(2) wEAdn uT ifeaw & 2.271098 L&
(3) dfraa & 4 Ol
4) Sfa®4ud

I < B faw o #:

F 1 : OF gATagdl U=l & Faeis ffarad A
T UTAT B &

N-U= > SEE=T > e

&y 11 2 519 9T Sl §, T &9 T T 6l A6
W A ¥ 396 uRonmeaEy, dwst % e g dea
% &1 ST & FTEh IR0 AT STUaTT o did STaRieTdh
A GI &1 9T & SR 39 BTV FAUHIeD BH & AT & |

IUX fau 7T At % e Uy, A fau T fadeedt €
aifeh SUgeRt ST g

(1) %9 198 & 9ig & 1 Tad 3

(2) &9 1 7Tad & Uig BuF 11 9 T

(3) ®uT 1 3R HoA 11 I T B |

(4) %91 3T U 11 31 Terd £ |

Frefefad & & & @ In k o T % 49 o

S+ FHI T 6 STIER & ?
1 1
(1 = @ =
T %—)
0 )
-4 4
G = @ =
15 1o
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The most stable carbocation among the following

1S:
D
(1) E>—CH2

CH,

CH,

CH,

& &n

(4) CH3/ H\CHz/ (|:H
3

The E° value for the Mn3*/Mn2" couple is more
positive than that of Cr3*/Cr2" or Fe3"/Fe?" due
to change of

(1) d*to d3 configuration

(2) d3to d> configuration

(3) d to d* configuration

(4) d° to d? configuration

Arrange the following elements in increasing
order of first ionization enthalpy:

Li, Be, B, C, N

Choose the correct answer from the options given
below:

(1) Li<Be<C<B<N

(2) Li<Be<N<B<C

(3) Li<Be<B<C<N

(4) Li<B<Be<C<N

Match List I with List II.
List I (Complex) List II (Type of
isomerism)
Co(NH, ), (NO, )} Cl, I. Solvate
isomerism
Co(NH, ), (50, ) [Br Il Linkage
isomerism
_CO(NH3)6:| [cr(eN)] 1L Ionization
isomerism
_CO(H20)6}CI3 IV. Coordination

isomerism
Choose the correct answer from the options given
below:
(1) A-IL, B-1V, C-III, D-II
(2) A-IL B-1V, C-1II, D-1
(3) A-IL B-IIL, C-1V, D-1
(4) A-IL B-II, C-1V, D-II
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55 frfaled & o ged sifyd @l sdyem= &
(1 |:>78H2
CH,
CHj4
3 m e ™S N e,
= (S]
CH,
& o
ORIl Ty
3 2 cn
56 Mn3"/Mn?" gw@ % fag E° w9 Cr3t/Cr2t &
Fe3*/Fe?" & frfafaa uftad™ & srvr et Mt
T E
(1) d*ad fa=m
) dad faum
3) d’¥d fa=ume
4) d°9d? fa=m
57 frefatad ol B 9aH oaT T & Sod B o
FARYT BHITT:
Li, Be, B, C, N
e few g fqsedt | /€ SO g
(1) Li<Be<C<B<N
(2) Li<Be<N<B<C
(3) Li<Be<B<C<N
(4) Li<B<Be<C<N
58  wEt o ga 11 & wre frem aifsa:
T I (%) T 11 (s
& TER)
A Co(NHS)S(NOZ)JCIZ . facmaemass
SEICEER]
B. Co(NH3)5(SO4)}Br L ey
SEICEER]
C. _Co(NH3)6J [cr(eN),] L. emem
RLICRCRI
D. [ Co(H,0), |e1, IV. FueeeE
] REICEER|

e few g fqsedl | /€ SOX g
(1) A-L B-1V, C-II, D-II
(2) A-IL B-1V, C-1II, D-I
(3) A-IL B-IIL, C-1V, D-I
(4) A-L B-III, C-IV, D-II
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Which reaction is NOT a redox reaction?
(1) H,+Cl, > 2HCI

(2) BaCl, +Na,SO, — BaSO, + 2 NaCl
(3) Zn+CuSO, = ZnSO, + Cu

(4) 2KCIO5 +1, » 2KIO5 +Cl,

Given below are two statements:
Statement I : Aniline does not undergo Friedel-
Crafts alkylation reaction.
Statement I : Aniline cannot be prepared through
Gabriel synthesis.
In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is correct but Statement II is
false.
(2) Statement I is incorrect but Statement II is
true.
(3) Both Statement I and Statement II are true.
(4) Both Statement I and Statement II are false.
Match List I with List II.
List I List IT

(Compound) (Shape/geometry)
A. NH;4 I.  Trigonal Pyramidal
B. BrF; II.  Square Planar
C. XeF, [II.  Octahedral
D. SF¢ IV. Square Pyramidal
Choose the correct answer from the options given
below:
(1) A-IIL, B-1V, C-I, D-II
(2) A-IL B-IIL, C-1V, D-I
(3) A-IL, B-1V, C-II, D-III
(4) A-IL B-1V, C-11I, D-1

Which one of the following alcohols reacts
instantaneously with Lucas reagent?
(1) CH,- $H —CH,OH

CH,

CH,

|
(2) CH,- C-oH

CH,

(3) CH;-CH,-CH,-CH,0OH
(4)  CHy-CH, - CH-OH
CH,4

The Henry’s law constant (Ky;) values of three
gases (A, B, C) in water are 145, 2x 1075 and
35 kbar, respectively. The solubility of these gases
in water follow the order:

(1) A>C>B 2) A>B>C

(3) B>A>C 4) B>C>A
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T 1 (dfirs)

oW

frrtafad & & @A siffshan tsie aifafsan
TEE?

(1) Hy+Cl, > 2HCI

(2) BaCl, +Na,SO, — BaSO, + 2 NaCl
(3) Zn+CuSO,4 = ZnSO, + Cu

(4) 2KCIO5+1, = 2KIO; +Cl,

A & wue feg U R

F 1 : TR HISa—shIeed Uleha (e ol SITHiha
& Bl T

F9 11 : e ®7 Asfiet Sewor gy =180 a=man <
bl 2 |

IR feU T Al & e IX, T fau T fawmedt 9
w& T g

(1) ®u 198§ aig ®e 1 Tad 2 |

(2) ¥ 7Ad & T 9 1 9 1

(3) @y I 3iX & 1 3t §d 2|

(4) %91 3R a4 11 S Ted & |

Tl Lot gt 1 o @y firers etfor:

T I (erpter/
RIUCIG)

NH,4 I Pl e
BrF, 1. =l goae
XeF, Il sEweHE

. SFq IV. @t Rt

=i fag Ty faeedt & w8 IR giw:

(1) A-IIL, B-IV, C-I, D-II

(2) A-IL, B-IL, C-1V, D-I

(3) A-LB-1V, C-II, D-III

(4) A-IL B-1V, C-1II, D-I

frfafad YwblErl 9 ¥ B9 oy ATHHD &
T AT SATHISRAT H T ?

(1) CH;- CH-CH,OH

CH,

CH,

|
2) CH, - (|3 -OH

CH,4

(3) CH;-CH,-CH,-CH,OH
@) CH, -CH, - |CH —OH

CH,4

I i (A, B, C) % forw 2181 e fRerias (K ) 7190
%M 145, 2x1075 31T 35 kbar ¥ 139 76} &1 5/ &
faeand f=fafad %9 &1 9o &l &
(1) A>C>B (2) A>B>C
(3) B>A>C (4) B>C>A
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Quantum Number
A.

68

B.
C.
D

The reagents with which glucose does not react
to give the corresponding tests/products are

A. Tollen’sreagent  B. Schiff’s reagent
C. HCN D. NH,OH

E. NaHSO;

Choose the correct options from the given below:
(1) BandE (2) EandD

(3) BandC (4) AandD

Identify the correct reagents that would bring
about the following transformation.

(O cityci-ci,
O—CHZ—CHZ—CHO

(1) (1) BHj
(ii)
(iii)
(iv)
(i)
(ii)
()
(ii)
(1)
(ii)
(iii)
Fehling’s solution ‘A’ is
(1) alkaline solution of sodium potassium
tartrate (Rochelle’s salt)
()

aqueous sodium citrate
(3) aqueous copper sulphate
“4)

alkaline copper sulphate
Match List I with List II.

List I

/ S
H202 OH
alk. KMnO,
H,0°
H20/H+
PCC
HzO/H+
CrO4

BH;4

)
3)
4

/ S
H202 OH
PCC

List IT
Information provided
I.  shape of orbital
II. size of orbital
III. orientation of
orbital
orientation of spin
of electron
Choose the correct answer from the options given
below:

(1) A-II, B-1V, C-I1, D-1
(2) A-IL B-L, C-1V, D-1II
(3) A-lL B-IIL, C-II, D-IV
(4) A-IL B-1V, C-I, D-II

m

my

/

n IV.

1 gram of sodium hydroxide was treated with
25 mL of 0.75 M HCl solution, the mass of sodium
hydroxide left unreacted is equal to
(1) Zeromg (2) 200 mg
(3) 750 mg (4) 250 mg
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(Fatem
A. ml
B.
C.
D. n

68

A arferier RTeh a1 Toare eiffhar T war @
3 TTa ThEuT/3Iang T2 Iar B, ¥

A. ag athedes B, fire sifede

C. HCN D. NH,OH

E. NaHSO;

I3 feu 1o fysedt & @& 39X g

(1) B@RE (2) EsirD

(3) BamxC 4) AaRD

eI arferHie! ol usaThY ot fefaRad waraeor
H B |
( )—cn,-cu-cn, -

{ —cm,-ci, - cno

BH;
©

H202 / OH
g KMnO,
H3O®
H,O/H*

qr .
H,O/H*
CrO3

BH,

(H (@

(ii)
(iii)
(iv)
(1)

(ii)
(i)

(ii)
(1)

(i) Hzoz/gH

(iii) dr.€rEr

e faems <A gar &

(1) afegm arefimm Tre (A @@un) &1 arid

(2) el arfsan fage
(3) <IE BUT TEHe
(4) &t HIT T

Tl Lt g 1 o e e it
Tl 1

) (Suetesr AFTRY)
. & bl 3P
II. e &l ST
I1I. hetes o Safa=aTe
IV. 3A% b BT B

artufer=ama

e g Ty feaemedt @ w3 giw:

(1) A-III, B-1V, C-I1, D-1

(2) A-II, B-I, C-1V, D-III

(3) A-L B-III, C-II, D-IV

(4) A-IIL B-1V, C-1, D-II

qifsay gEgiaEs & 1g @l 0.75 M HCI fawas &
25 mL % 91 I fopam T, 9w srertishiRia
QIfSTT TEFIFEZS BT FHHAN TS BT

(1) Zeromg (2) 200 mg

(3) 750 mg (4) 250 mg

)
3)
“

mg

/
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On heating, some solid substances change from
solid to vapour state without passing through
liquid state. The technique used for the
purification of such solid substances based on the
above principle is known as

(1) Distillation (2) Chromatography
(3) Crystallization (4) Sublimation

In which of the following processes entropy

increases?

A. Aliquid evaporates to vapour.

B. Temperature of a crystalline solid lowered
from 130 K to 0 K.

C. 2 NaHCO3(5—>Na,COs3 + COy + HyOp

D. Clyg =2 Cl,

Choose the correct answer from the options given

below:

(1) A,CandD (2) CandD
(3) AandC 4) A,BandD
Match List I with List II.

List I List 1T
(Process) (Conditions)
Isothermal I.  No heat exchange
process
Isochoric II. Carried out at
process constant temperature
Isobaric II. Carried out at
process constant volume
Adiabatic IV. Carried out at
process constant pressure

Choose the correct answer from the options given
below:

(1) A-L B-II, C-III, D-IV

(2) A-IL B-III, C-1V, D-1

(3) A-IV, B-III, C-II, D-I

4) A-1V, B-II, C-11I, D-1

Arrange the following elements in increasing
order of electronegativity:

N, O, F, C, Si

Choose the correct answer from the options given
below:

(1) O<F<N<C<Si

(2) F<O<N<C<Si

(3) Si<C<N<O<F

(4) Si<C<O<N<F
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A. GHAYE YA L.

C. 99eE™ WehH

D. &% yhH

T B X, PO 3 Uard ¥ 991 g9 ovewen § [Ad
TU ATy sreen ¥ ufafid & o # 1%y feu Reata &
YT IR U 319 g1t & SNed & foe yged doii
HEA! &

(1) amgad
(3) foreead

(2) avieifge!
(4) SeuTaH

Frrfafad & € o6 wopdl & Tzl Sgar & 7
A. TH g9 ar] ¥ qifad Brar 2

B. th hedm @ ara 130 K& 0 K d& gear & |
C. 2 NaHCO3(—NayCOy) + COyq + HyO(g
D. Clyg—>2 Cly,

ra fau T fysedt & @& IOX T

(1) A, CarRD (2) CamD

(3) As&RC 4) A,BaD

Tl [ o1 gl 11 & a1 fam st

T 1 (76W) T I (fRarfer)
&S ST T w1
et qrg uT &t S B
R ameres wx @t
S 1
IV. R a9 ux &l oIt 2|
I3 fau 1o fysedt & @& ITX g
(1) A-L B-II, C-III, D-IV
(2) A-IL B-III, C-1V, D-I
(3) A-IV, B-III, C-II, D-I
(4) A-IV, B-II, C-III, D-I

B. @gmdte 9bH 1L
111.

HITT:

N, O, F, C, Si

e few o fasedt | w8 ST g
(1) O<F<N<C<Si

2) F<O<N<C<Si

(3) Si<C<N<O<F

(4) Si<C<O<N<F
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(Molecule)

Given below are two statements :

Statement I : Both [Co(NH3 )6 T+ and [CoF6 ]3_

complexes are octahedral but differ in their
magnetic behaviour.

3+
Statement II : |:CO(NH3)6} is diamagnetic

3- . .
whereas [COFJ is paramagnetic.

In the light of the above statements, choose the
correct answer from the options given below:

(1) Statement I is true but Statement Il is false.
(2) Statement I is false but Statement Il is true.
(3) Both Statement I and Statement II are true.
(4) Both Statement I and Statement II are false.

Match List I with List II.
List I List IT

(Number and types of
bond/s between two

carbon atoms)

ethane I.  one g-bond and
two w-bonds

ethene II. two m-bonds

carbon III. one o -bond

molecule, C,

ethyne IV. one ¢ -bond and

one nt-bond
Choose the correct answer from the options given
below:
(1) A-II, B-1V, C-1I, D-1
(2) A-IL B-1V, C-1, D-II
(3) A-L B-1V, C-II, D-III
(4) A-IV, B-III, C-II, D-I

Activation energy of any chemical reaction can

be calculated if one knows the value of

(1) orientation of reactant molecules during
collision.

(2) rate constant at two different temperatures.

(3) rate constant at standard temperature.

(4) probability of collision.

In which of the following equilibria, K, and K
are NOT equal?

(1) €O + HyO) =
(2) 2BrCl, =
(3) PClsg =

@) Hyg * g =

COyg) + Hy()
Bryg) T Cly

PClyg) + Clyg

2 Hly,
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O

T a1 o fou g &

w1 [CO(NH3)6T+ ai |:COF6:|3_ <Ml g
HEHTDIT & UG Yahid AAER | (7 & € |
w11 : [CO(NH3)J3+ yRrdaea & waks

[CoF, | et ¥1

U T3 T Al % SER W), A U U fawedt @
& AT g

(1) &u7 198 & 9ig &= 11 Tad 3

(2) ¥ 1 7Ed & wig B9 1 9 1

(3) ®Hu 13X U 11 S T & |

(4) ®I9 1 3T U 11 =1 Terd |

Tl Lot gt 1 o are e it
Tl g 11 (§ F1d7 wzamred
(319) 3 i A qEN AR

TET)
T I & o-3eY &k
3l -3Eg
3 -3MEY
Th o-3EY
TH o-3EY 3T
U 70 -3NE
T feu Y faeedl @ w8 SR g
(1) A-IIL, B-IV, C-II, D-I
(2) A-III, B-1V, C-I, D-II
3) A-L B-1IV, C-11, D-1IT
4) A-1V, B-I, C-11, D-1

fopdy oY Tramate arfafsrar &1 aftpaor St afiefaa
@ o "ahdll & A Frrfeiiad &1 |7 st &

(1) g &% QA AfHebTias TU[at &1 sifvfa=md
(2) < fg=1 amaf 9T 9 Reis

(3) HM® a9 9T I Rertis

(4) HEA &l yTRrebar

OB
B &7 C,
RUIES]

II.
II.
IV.

et amet & & fopadl K, ofit K @om 7 ¥ ?
(1) €O+ HyO) = COz(g) T Ha)

(2) 2BiCly, =
(3) PClsy =

) Hyg *lyg =

Bryg) + Clyg)
PClyq) + Clyg

2 Hl(g)
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Match List I with List II.
List I List IT
(Conversion) (Number of
Faraday required)
A. 1 mol of H,O to O, L. 3F
B. 1 molof MnO; to II. 2F
Mn2t
C. 1.5 mol of Ca from . 1F
molten CaCl,
D. 1molof FeO to Fe,O5 IV. 5F
Choose the correct answer from the options given
below:
(1) A-IL B-III, C-I, D-IV
(2) A-IL, B-1V, C-11, D-1
(3) A-IL B-1V, C-1, D-III
(4)  A-IIL, B-1V, C-I, D-II
For the reaction 2A =B+C, K. = 4x1073. Ata
given time, the composition of reaction mixture
[A]=[B]=[C]=2x10"M.
Then, which of the following is correct?
(1) Reaction has a tendency to go in backward
direction.
(2) Reaction has gone to completion in forward
direction.
(3) Reaction is at equilibrium.
(4) Reaction has a tendency to go in forward
direction.
Intramolecular hydrogen bonding is present in
NO,
o QY
HO
(2) HF
o 0L
b S
@ o
The compound that will undergo Sy ! reaction

with the fastest rate is
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Tl Lt gt 1 o @y e etfor:
T 1 T 11
(i) (e W
F &)
A. H,O% 19@ %O, ¥ . 3F
B. MnO, & | 4id® Mn>" ¥ II. 2F
C. wfwd CaCL&Ca® 1.59w I IF
D. 14 FeO & Fe,05% IV. 5F
T feg T fasmedt & @@ 3T giw
(1) A-IL B-IIL, C-I, D-IV
(2) A-III, B-1V, C-II, D-I
(3) A-IL, B-1V, C-1, D-III
(4) AL B-1V, C-I, D-II
afufiFaT 24 = B+C % g K =4x107 ¥ e
T T wm uy, sifferar frsror &1 geed B
[A]=[B]=[C]=2x10M.
a9, Ffafaa ¥ S e ad & ?
(1) ifferar &1 gea faem & 919 &1 wgta §1
(2) erfufsmar amr faem & qof &1 gar ¥
(3) erfufspan ar=g TX 31
(4) arfufspa @ o faem & S @ ygta 31
3id: ST Bgso Sad fohe # Suftard giar & ?
NO,
o QY
HO
(2) HF
NO,
o CX
oH
A
4 HO
I it o G frar < & Sy ! arfufear wm, ®:
CH;
Br
o @ ©/\
o O 0 O
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List I (Reaction)

Match List I with List II.
List IT (Reagents/
Condition)
(0]

A. (K2 ro 1. @J kc1/

B. @e@Jk@ IL.

Anhyd.AICl;

CrO4

1. KMnO,/
KOH, A

IV. (i) Oy

(i1) Zn-H,O
Choose the correct answer from the options given
below:

(1) A-1V, B, C-11, D-III

(2) A-l, B-1V, C-II, D-11I

(3) A-1V, B-I, C-II, D-II

(4) A-II, B-1, C-1I, D-IV

‘Spin only’ magnetic moment is same for which
of the following ions?
A T3t

C. Mn?*

E. Sc3*

Choose the most appropriate answer from the
options given below:

(1) BandConly (2) A andD only

(3) BandDonly (4) AandE only

A compound with a molecular formula of CgHy 4
has two tertiary carbons. Its [IUPAC name is:
2,3-dimethylbutane

2,2-dimethylbutane

n-hexane

2-methylpentane

The energy of an electron in the ground state
(n= 1) for He" ion is —x J, then that for an electron
in n = 2 state for Be>" ion in J is :

4
(1) @) -5x

X
3) @ -3
Given below are two statements:
Statement I : The boiling point of hydrides of
Group 16 elements follow the order
Statement II : On the basis of molecular mass,
H,O is expected to have lower boiling point than
the other members of the group but due to the
presence of extensive H-bonding in H,O, it has
higher boiling point.
In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is true but Statement II is false.
(2) Statement I is false but Statement II is true.
(3) Both Statement I and Statement II are true.
(4) Both Statement I and Statement II are false.

B. Cr?*
D. Fe?*

—4x

—X
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Tl Lt g 1 o ane e etfor:
I

11
JAtHisRan) afﬂgﬁis/ﬁaﬁ)
OO0 Ly
fste AICI,
O
Q-0r 8 n oo,
O (:fo [ KMnO,/
KOH, A
CH,CH,
<r IV. (i) Oy
COOK 3
(i1) Zn-H,O
e feu U foeedt @ wE S
(1) A-1V, B-1, C-II, D-III
(2) A-l, B-1V, C-II, D-III
(3) A-IV, B-I, C-III, D-II
(4) A-IIL B-I, C-II, D-IV
fforRaa o & T ot o fo “wshor Aer°
T BT & 7
A, T3t B. Cr?*
C. Mn2* D. FeZ"
E. Sc3*
T fou g el @ g9 /8 39X g
(1) da@B&iRC  (2) &aw AsikD
(3) Ha@BaRD (4) Had ASRE

319 G CH , Tl T AITeh ¥ &1 Jaiiaeh dbrai Surerd
%lmaﬁﬁ“ﬁrq.@r.ﬂm%:

(1) 2.3-

(2) 2,2-

(3) niwS

(4) 2-Afgau=es

He" omas &l 7@ oraed (n= 1) # fopdl soiarzi o
Tell —x J ¥, a9 Be3™ o1ae &l n = 2 aaen § sufed

gAFZ( o [T J H ot Bl 8

(1) —4x ©) —gx

(3) -x @ -3

T &1 s fow o &

F L : T8 16 @ & T1EI1ES| & FaLHIS Franad
%Y T qTe E

e 11 : a7fvae 5w & a9 H,O &1 St
FILATH TE & ST [ ¥ %F Bl & g H,O d

ferega H-oeem ot SuRfd & &, gHel Seaay
FALH TNl & |

IR U T Al & Sy Uy, A faw o faemedt |
TE ST g

(1) &9 198§ 9ig & 1 Tad 3

(2) ¥ 17Ad & W HA 1 9 1

(3) a1 oiX & Il gt 9d 21

(4) ®I 1 3T U 11 3=t Terd £ |
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Mass in grams of copper deposited by passing
9.6487 A current through a voltmeter containing
copper sulphate solution for 100 seconds is:
(Given : Molar mass of Cu : 63 g mol~!,

1F =96487 C)

(1) 315¢g (2) 0.0315¢g

(3) 3.15¢g (4) 0315¢g

A compound X contains 32% of A, 20% of B and
remaining percentage of C. Then, the empirical
formula of X is :
(Given atomic masses 0f A=64; B=40; C=32u)
(1) AB (2) ABC
3) A21§c2 (4) ABCj
Consider the following reaction in a sealed vessel
at equilibrium w1th concentrations of

3.0 x 103 M, 02 4.2 x 103 M and
NB =58 % 102 M

+ O

2NO
(2) 2(2)  2Ae) '
If0.1 mol L1 ofNO(g) is taken in a closed vessel,

A
F

what will be degree of dissociation () of NO,,
at equilibrium?

(1) 0.8889 @) 0.717

(3) 0.00889 (4) 0.0889

The work done during reversible isothermal
expansion of one mole of hydrogen gas at 25°C
from pressure of 20 atmosphere to 10 atmosphere

is:
(Given R =2.0 cal K- mol1)

(1) 413.14 calories (2) 100 calories

(3) O calorie (4) —413.14 calories

The products A and B obtained in the following
reactions, respectively, are

3ROH + PCl; —>3RCl + A

ROH + PCl; —>RC1 + HCI+B

(1) H3PO4 and POCl;

() PO and POCl

3) P@)Cl and H;PO;

4) POC13 and H3PO4

Given below are two statements :

3+
Statement I : |:C0(NH3)6:| is a homoleptic

+
complex whereas |:CO(NH3)4C12:| is a
heteroleptic complex.

3+
Statement I1 : Complex |:CO(NH3 )6} has only

+
one kind of ligands but [CO(NH3)4C12:| has

more than one kind of ligands.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is true but Statement Il is false.
(2) Statement I is false but Statement II is true.
(3) Both Statement I and Statement II are true.
(4) Both Statement I and Statement II are false.
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BT Tehe faaas aret fopdl dieediex & 100 ¥6s &
17 9.6487 A faga—am wanfed & R fHarfia s
BT T § SgH &

(fezm T % : Cu &1 Ao geq| ™

63 gmol~!, 1F = 96487 C)

(1) 3l5g (2) 0.0315¢

(3) 3.15¢ (4) 0315¢

e i X H A 32%, B 20% 3T 9w wfasra C
& 1q9 X @ SERE

(ﬁmw% anfvas g™ A= 64; B=40; C=32u)
(1) AB (2) ABC,

3) Azéc2 (4) ABC,

N,=3.0x 103 M, 0, =4.2 x 103 M &R
NO = 28X10‘3ME'ITCITGﬁ%EET€TWWWH
¥ f=faiag g o faam :

INO(g) = Ny () * On)

?Ilﬁi’NO(g)%ﬁO.l mol L~ &t diereg umr # feran wirg,
ar ferirst = (o) /B ?

(1) 0.8889 (2) 0.717

(3) 0.00889 (4) 0.0889

25°C 9T T HIT B3 o 719 b 20 THIR®IT a9 o
10 THATRGIR 31 T IchHUITT THATI TETUT 3% I
fopam T B ®:

(fear T &: R =2.0 cal K-! mol™!)
(1) 413.14 calories (2) 100 calories
(3) O calorie (4) —413.14 calories

f=tafaa srfafranst & s9 SdE, A 3T B &HT: &
3ROH + PCl;—3RCl + A

ROH + PCl —RCI+HCI+B

(1) H;PO, Qa POClI,

2) H PO T POCl

(3) POCL, 7 H PO,

() POCI; 7 H PO,

T 3 wed Ry mw #:
FH 1 [CO(NH3)6T+ T TS G &

eIty [CO(NH3)4 c12}+ T Fafed e & |

3+
Fo 11 : Eepet [CO(NH3)6} % Haw Th T H

firms ¥ s | Co(NH,) C1, | # 1w & atferm
YT o (o1 ¥ |

IR fau 7T At % e Uy, A9 fau T faeedt €
& I g

(1) @ @& 2 uig %9 1 7Ted g |

(2) ®uF 1 7Ed & Ui A 1 T 1

(3) wu I oY & Il gt 9d 21

(4) %991 3T U 11 31 Terd £ |
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Identify the major product C formed in the
following reaction sequence :

i, —cit, —ci, 1NN
OH™ NaOH

: - C
Partial hydrolysis Br2 (maj or)

(1) butanamide

(2) o —bromobutanoic acid
(3) propylamine

(4) butylamine

During the preparation of Mohr’s salt solution
(Ferrous ammonium sulphate), which of the
following acid is added to prevent hydrolysis of
Fe2* jon?

(1) dilute nitric acid

(2) dilute sulphuric acid

(3) dilute hydrochloric acid

(4) concentrated sulphuric acid

Identify the correct answer.

(1) Dipole moment of NF; is greater than that
of NHj.

(2) Three canonical forms can be drawn for

CO§_ ion.
(3) Three resonance structures can be drawn for

ozone.
(4) BF; has non-zero dipole moment.

Given below are certain cations. Using inorganic
qualitative analysis, arrange them in increasing
group number from 0 to VL.

A, APF B. Cu?*

C. Ba?'
E. Mg2*
Choose the correct answer from the options given
below:

(1) E,C,D,B,A
3) B,A,D,C.E

(2) E,A,B,C,D
4) B,C,A,D,E

For the given reaction:
<:>_ C=CH KI\/IHO4/HJr ‘p’
I ”
H

Z:> (major

product)
‘P’is
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Frrefafaa sifufear 9 & a1 g 3w C &
CH3—CH2—CH2—INa—CN>A

OH™ NaOH

SR STaTTEe Br., C
2 (3=)
(1) sgeIge
(2) o —TEGEATH A
(3) Wity
(4) sgfeweHm

AR waor faea (B st ag aehe) & e &
g, frfeiaa & @ 6| ot @l Fe?' omae &
TATTEE bl Ueh b Qg forerman wran & 7

(1) g 7Eles s

T ITX g

(1) NF; @1 fa—ga amget NH, & fa—ga omgel &
e BT 31

(2) €O} s % for i fafeq ww smifea fg
T Fehdl & |

(3) S & fAT A STATE €XEATE STRRad &l 1
Tl 5 |

(4) BF; @1 SR fa—ga omgel & 2

T FB g fau T | St e fagewer

% SUANT &1, 3= Sed! 9e §ed 0 ¥ VI dew o gaiea

B. Cu?*
D. Co?*

A. AP
C. Ba?*
E. Mg2*
Ira fau 1o fysedt & @& ITX g

() E,C,D,B,A (2) E,A,B,C,D
3) B,A,D,C.E (4) B,C,A,D.E

ERERCIEIERIEAT S
Q? =CH KMIIO4/H7L P!
H

Z:} (e )
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The pair of lanthanoid ions which are diamagnetic
is

(1) Gd3* and Eu3*
(3) Ce*"and Yb2"

(2) Pm3"and Sm3"
(4) Ce*" and Eu?*

Major products A and B formed in the following
reaction sequence, are

OH
PBr, alc. KOH
— A —a B
(major) (major)
O

(M

2

Br
H;C
0

4

The plot of osmotic pressure (IT ) vs concentration
(mol L) for a solution gives a straight line with
slope 25.73 L bar mol~!. The temperature at which
the osmotic pressure measurement is done is:
(Use R =0.083 L bar mol! K1)

(1) 25.73°C (2) 12.05°C

(3) 37°C 4) 310°C

The rate of a reaction quadruples when
temperature changes from 27°C to 57°C.
Calculate the energy of activation.

Given R =8.314 J K~! mol!, log 4 =0.6021
(1) 3.80 kJ/mol (2) 3804 kJ/mol

(3) 38.04kJ/mol  (4) 380.4 kJ/mol
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WIS TGl BT I8 A Sl Yl Th §, &
(1) Gd* &R Eud™ (2) Pm3* afik Sm3*
(3) Ce*tafrYb?t (4) Ce3* @it Eu2t

Frrefafaa sifufean %7 & < 7o Same, A i B #:

OH
H”C 3
> PBr Tepreral KOH
3, A— —x > B
(7=) (7=)
OH OH
H3Q Br H;C
(1) A e
OH O
H3Q Br H;C
@) A B

0 2 e

)

fopelt forerae & fofe oo &19 (17) 8 digar (Jra
@ #) % g stera Us F @ adl & et gra
25.73 L bar mol~! ¥ | 9 a9 e ux 9xm@®e T
HIYT T E, §:

(R =0.083 L bar mol! K-1fifs)

(1) 25.73°C (2) 12.05°C

(3) 37°C (4) 310°C

W9 A @l 27°C & 57°C ufiafda fear wmar & o«
fopdlt arfafepa &1 3T X T[T B AT § | |ishaer St
gfapfdd Bt

femmmard: R =8.314 J K- mol!, log 4 = 0.6021
(1) 3.80kJ/mol  (2) 3804 kl/mol

(3) 38.04kJ/mol  (4) 380.4 ki/mol

[ Contd...



|

Botany : Section-A (Q. No. 101 to 135)

101

102

103

104

Which one of the following is not a criterion for
classification of fungi?

(1) Mode of spore formation

(2) Fruiting body

(3) Morphology of mycelium

(4) Mode of nutrition

Match List I with List II
List I
Nucleolus

List IT

Site of formation
of glycolipid
Organization like
the cartwheel
Site for active
ribosomal RNA
synthesis

Golgi For storing
apparatus nutrients

Choose the correct answer from the options given
below:

(1) A-IIL, B-1V, C-II, D-I

(2) A-L B-II, C-lII, D-IV

(3) A-IIL B-IL, C-1V, D-I

4) A-Il, B-III, C-I, D-IV

Tropical regions show greatest level of species
richness because

A. Tropical latitudes have remained relatively
undisturbed for millions of years, hence
more time was available for species
diversification.

Tropical environments are more seasonal.
More solar energy is available in tropics.
Constant environments promote niche
specialization.

Tropical environments are constant and
predictable.

Choose the correct answer from the options given
below:

(1) A,BandE only

(2) A,BandD only

(3) A,C,DandE only

(4) A and Bonly

Identify the type of flowers based on the position

of calyx, corolla and androecium with respect to
the ovary from the given figures (a) and (b)

A. L.

Centriole I1.

Leucoplasts 1.

IV.

caw

E.

(1) (a) Perigynous; (b) Epigynous
(2) (a) Perigynous; (b) Perigynous
(3) (a) Epigynous; (b) Hypogynous
(4) (a) Hypogynous; (b) Epigynous
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101 fy=faRad & & &9 91 hahl b GBI Bl Th HEs

TWT?

(1) Sy fmtor &7 qlest

(2) e BT

(3) wHaAHe (ATSEITAT) B ST bl
(4) drwer @ fafl

102 T [ o1 gt 11§ fram shifsa:

103

104

A.

B.

Tl Tl

Jaieiad (Bfsd) 1. TaEsiaTs & a9
CARSK]

f-zand II. gl &% qfeT s
ESRIEE

DT L. =fra TrEarar
JTTAT H AT
HT WA

TTestl SUHTIT IV. diwehi & Heer
& forg

I feu 1o fyeedt & & @&t ST¢ @ g

(1) A-IIL B-1V, C-I1, D-I
(2) A-L B-II, C-1II, D-IV
(3) A-IIL B-IL, C-1V, D-I
(4) A-IL B-IIL, C-1, D-IV

SWhfeEdr & (Zife) STaa WX @ SIfd Sgadr
&l yaiifd &3 ¥, ifs

A.  SUTGHREHR e ATl aul qob STUEThd STagee
& %, ora: wnfa fafadiemtor & fae eifye a9
U AT

B. wmw&mﬁw/ﬂ@z

|

C. Surmfeddl &= ¥ 3ifies TR SHelt Suasd Bl & |

D. et yataror frsha fafirdieor @t agrar 3ar 2
Iuehfea R qateTer RaT i qaga= e ¢ |

:ﬁ%%qmﬁwffﬁaﬁwﬁgﬁq

(1) %ad A, BaRE

(2) Fad A, BsirD

(3) wa@ A,C,DsiRE

(4) Had AsiB

feg mu fa=il (a) of7 (b) & sfeTem & deY # areRays
(ehTeTeR) , TG (BRI aﬁTng (Tgfiram) @i Rafa
% ST 9T g &% T I T8Iy |

(1) (a) wftwmardr (b) smariafe
(2) (a) g (b) wfem
(3) (a) SEFMUR® (b) SRITMER
(4) (a) SEEMER (b) SEFMARE
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Inhibition of Succinic dehydrogenase enzyme by
malonate is a classical example of:

(1) Competitive inhibition

(2) Enzyme activation

(3) Cofactor inhibition

(4) Feedback inhibition

In the given figure, which component has thin
outer walls and highly thickened inner walls?

(1 A
3) C

2) B
4) D

The type of conservation in which the threatened
species are taken out from their natural habitat
and placed in special setting where they can be
protected and given special care is called;

(1) Semi-conservative method

(2) Sustainable development

(3) in-situ conservation

(4) Biodiversity conservation

Which one of the following can be explained on

the basis of Mendel’s Law of Dominance?

A. Out of one pair of factors one is dominant
and the other is recessive.

B. Alleles do not show any expression and both
the characters appear as such in F,
generation.

C. Factors occur in pairs in normal diploid

plants.

The discrete unit controlling a particular

character is called factor.

E. The expression of only one of the parental
characters is found in a monohybrid cross.

Choose the correct answer from the options given

below:

(1) B, CandD only

2) A,B,C,DandE

(3) A,BandConly

(4) A,C,DandE only

Auxin is used by gardeners to prepare weed-free

lawns. But no damage is caused to grass as auxin

(1) does not affect mature monocotyledonous
plants.

(2) can help in cell division in grasses, to
produce growth.

3)

“4)

D.

promotes apical dominance.
promotes abscission of mature leaves only.
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AAME &R G SIETESINE TIgH &l GeHT
% 3T SEE 5|
(1) wfqat gga=
(2) TwiEH Gfeha
(3) ®haT (Tedd
(4) wiEd® geuT
feu T fasr ®, foner wares & uae star fuf ofie ercafies
wyfera ity fafoa g 8 7

) HeHd

2) B
4) D

T BT I8 b forew faaager sfa & 3%
UTehfcreh TaTaTe § S1e X Hepraes fashy e (&fém)
TG AT & el 9 GRIA & Gabell & ST STl [g9w
@I Bl AT &, I8 HEATT &

(1) erd—avel fafy

(2) Gad faema/rEraant fawe

(3) @RI gX&

(4) Satataear @&

frrfafad & & fpTar orea & ywifear & Frem &

YT X SATEAT &l ST Fohell § 7

A.  HFTH TH IS H A Th THET 3 TE STIHTE
BATE ?

B. WM &3 sl welia 78i & € o F,

1) A
3) C

el ¥ T 707 ST B9 H Yohe B W ¥ |
C. amra fefora uredt & Perex wiet & urg 9 ¥
D. foelt o fagre i i s arett fafer o
Hee BeEdTdl & |

E. UHa@®HT €H0 § %Had Uk 9% & 0 B
et BT 2|

I faw o faeedt § @ 981 SO @ gRTT:

(1) %a@ B, C 3R D

(2) A,B,C,D@RE

(3) waw A, B C

(4) waa A, C,DsiRE

TdaR-ad Sirar fffa & & T A st
T SULNT HId & | Ak 3TY I BI HI3 &A1 el erdl
T it eriferam:

(1) Tu%h ThASUI UGyl bl THITST T8l BT o |
(2) ==l H B3Rt faare™ o Teras & gl & ey
gfa &l 9|

SIS geTferT b ieaTted Hear & |

Had 9T gl o [IeT @l & Wiened
HIAT

3)
)
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110 A transcription unit in DNA is defined primarily
by the three regions in DNA and these are with
respect to upstream and down stream end;

(1) Inducer, Repressor, Structural gene

(2) Promotor, Structural gene, Terminator

(3) Repressor, Operator gene, Structural gene
(4) Structural gene, Transposons, Operator gene

111 The lactose present in the growth medium of
bacteria is transported to the cell by the action of:
(1) Permease
(2) Polymerase
(3) Beta-galactosidase
(4) Acetylase

112 In a plant, black seed color (BB/Bb) is dominant
over white seed color (bb). In order to find out
the genotype of the black seed plant, with which
of the following genotype will you cross it?

(1) Bb (2) BB/Bb
(3) BB (4) bb

113  The capacity to generate a whole plant from any
cell of the plant is called:
(1) Differentiation
(2) Somatic hybridization
(3) Totipotency
(4) Micropropagation

114 These are regarded as major causes of biodiversity
loss:

A. Over exploitation

B. Co-extinction

C. Mutation

D. Habitat loss and fragmentation
E. Migration

Choose the correct option:

(1) A,BandE only

(2) A,BandD only

(3) A,CandD only

(4) A,B,CandD only

115 The equation of Verhulst-Pearl logistic growth is
dN | K=N
7%

From this equation, K indicates:

(1) Carrying capacity

(2) Population density

(3) Intrinsic rate of natural increase

(4) Biotic potential
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110

111

112

113

114
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ST (DNA) ® STerE (Zfher) sars ol areifies

Y Y STAT % A & g i fopan oiman & 8ix

Y GEAYATE! (UEM) SR Sreivar! (67 ©m) )

& HoH H/ame T

(1) Zegar (o), d@eme (T, @xaarers s

(2) YT, GG S, FH96 (2RER)

(3) HaH® (TOER), gaTed (STLe)) SH, TS

NIkl

(4) EEATES S, YN, T (STTIEy) Sie

Strarvpsti & ghg Aream A SuRyd W Bl i ¥
@ feman grar eftmifia feman wimar #1

(1) wima

(2) dEEE

3) der-fdeEEsa

(4) Ul

e U1y ¥, 919 &7 il 31 (BB/Bb) &g 11 (bb)

T YHTE ¥ | el ST Tl 16T ol SH9eY 31d 6 &

o, ey Iet o F=faiad & 9 f6e stmwey &

qIeY o G1Y Hu ?
(I) Bb (2) BB/Bb
(3) BB (4) bb

U1y b foRer ot wifent & qut urey @l fasfad & &
THAT HEAT! &

(1) fave=

(2) ®fa® GBI

(3) qufererman (Srémre=)

(4) SIS (ATSHYTILH)

3! STafafaear Sl BT & e ST AT S 8
rfcrare

Fe—fegfid

I

qgTaT B SR WE e
A CISE |

Te! faebeq @1 g

(1) %aa A, BsiRE

(2) ®a@ A,BsitD

(3) Fa@ A, C3ikD

(4) waw@ A, B, C 3D

AT gIGHId g (AT A B qHIBor

dN [K-N
%ECWPF]
g g § K fafed s &
(1) & @\ an
(2) EE g
(3) vHlaw g @l 7 T
4) i awan

oOow>

m
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Given below are two statements:

Statement I : Chromosomes become gradually
visible under light microscope during leptotene
stage.

Statement I1 : The begining of diplotene stage is
recognized by dissolution of synaptonemal
complex.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is true but Statement II is false
(2) Statement I is false but Statement II is true
(3) Both Statement I and Statement II are true
(4) Both Statement I and Statement II are false

Formation of interfascicular cambium from fully
developed parenchyma cells is an example for
(1) Dedifferentiation

(2) Maturation

(3) Differentiation

(4) Redifferentiation

The cofactor of the enzyme carboxypeptidase is:
(1) Flavin (2) Haem
(3) Zinc (4) Niacin

Bulliform cells are responsible for

(1) Increased photosynthesis in monocots.
(2) Providing large spaces for storage of sugars.
(3) Inward curling of leaves in monocots.
(4) Protecting the plant from salt stress.
Match List I with List II
List I List IT
Clostridium I.  Ethanol
butylicum
Saccharomyces II.  Streptokinase
cerevisiae
Trichoderma III. Butyric acid
polysporum

Streptococcus sp. IV.  Cyclosporin-A
Choose the correct answer from the options given
below:

(1) A-II B-I, C-1V, D-1I
2) A-1V, B, C-11I, D-1I
(3) A-II, B-1, C-II, D-IV
(4) A-IL, B-1V, C-IIL, D-1

A pink flowered Snapdragon plant was crossed
with a red flowered Snapdragon plant. What type
of phenotype/s is/are expected in the progeny?
(1) Only pink flowered plants

(2) Red, Pink as well as white flowered plants
(3) Only red flowered plants

(4) Red flowered as well as pink flowered plants
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I < woe fiw e &

F | - TSN T0/STRT % SO Wehral garastt |
?ﬁww(ﬁﬁ@mmw%ﬁ@ééﬁm
|

w11 : TRAREH ITu/s@wen & Y & 9gaH
e MHa Birded & fadie & &l 81

U HUAL % S A, faw T fadmedt # 4w AT
@ giHa:

(1) a7 19 2 afesT A 11 o 7 |

(2) ®U1 39 & @fehT Ba 11 9 1

(3) ®uA 13X U 11 S T &1

(4) ®I 1 3T Bu 11 <Y orae |

quia: faresfad aam! SISt d Satysa hiae™

CIERRI T Teh SETEXTT & |

(1) fafgde=

(2) uftgees

3) favem

(4) grfdHes

T3 BRI hl Tehiidh (Bithael) &:
(1) wifes 2) ™

3) 5w 4) frenfam

Mg HIRTEHT ( gﬁwﬁ% ) STRETN Bl &

(1) UwSSHEET (Fwey) & afdd qeier geayor
% foral

(2) T b YR & U Sifed T 9a B

4) ey 1 WV GG A Ta % R

120 o 1o gt 11 & fram shif:

121

A.

B.

T T 11
FALeTT I T
ZeTsloTdT
Tz . wW<wEa
et
ZrEwIsHf . =geEie o
AT
Beisied . IV. «EaEiE-A
I faw o faeedt ¥ 9 & 39X A ghw:
(1) A-III, B-1, C-IV, D-lI
(2) A-1V, B-I, C-III, D-II
(3) A-IIl, B-I, C-II, D-IV
4) A, B-1V, C-II1, D-1
T T[ATEl g A U 6 W B A1 g are
TS & WY b 1 GH T ST 147 | Hafd & ford
TehTT o WEUTHEY o &I bl SFHIE bl STl & 7

(1) %a@ Tarer g7 a1d qrg

(2) @, [AET % AT & qHE g0 a1 9
(3) %A@ @d IoT Al g

(4) < AT ST T[S g AT e
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Given below are two statements:
Statement I : Bt toxins are insect group specific
and coded by a gene cry [Ac.
Statement II : Bt toxin exists as inactive
protoxin in B. thuringiensis. However, after
ingestion by the insect the inactive protoxin gets
converted into active form due to acidic pH of
the insect gut.
In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is true but Statement II is false
(2) Statement I is false but Statement Il is true
(3) Both Statement I and Statement II are true
(4) Both Statement I and Statement II are false
Identify the set of correct statements:
A. The flowers of Vallisneria are colourful and
produce nectar.
B. The flowers of waterlily are not pollinated
by water.
C. In most of water-pollinated species, the
pollen grains are protected from wetting.
D. Pollen grains of some hydrophytes are long
and ribbon like.
E. In some hydrophytes, the pollen grains are
carried passively inside water.
Choose the correct answer from the options given
below:
(1) A,C,DandE only
(2) B,C,DandE only
(3) C,DandE only
(4) A,B,Cand D only
Spindle fibers attach to kinetochores of
chromosomes during
(1) Anaphase (2) Telophase
(3) Prophase (4) Metaphase
Match List I with List II
List I List IT
Two or more L Back cross
alternative
forms of a gene
Cross of F; II.  Ploidy
progeny with
homozygous
recessive parent
Cross of F; . Allele
progeny with
any of the parents
Number of IV.  Testcross
chromosome
sets in plant
Choose the correct answer from the options given
below:
(1) A-IIL B-1V, C-I, D-II
(2) A-1V, B-III, C-II, D-I
(3) A-L B-II, C-lII, D-1V
(4) A-IL B-L, C-IIL, D-1V
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A.

B.

BICRAR DR AU S

o 1 2 Bt anfay (i) die @ fafie 2 ¥ ofit
@I S cry [Ac BT geaiad (Brs) foar smar 31
g 11 : Bt anfery (i) & ¥ faftng
TS (AEIifeRa) & &9 # 91T &1d & | Jafy, s
B0 T fohu I o a8 Ffteh ety (Wrereifera)
B B ofid § orid pH & & HIL0r dfshd &9 o
gieafedd & o £ |

U HUAT % STes § A oy Ty § @ wh
ST @ g

HIT | T & Aleh HoA 11 3/ )

(D
(2) ®uT 1 3E ¥ Wi bu 11 9T 2|
(3) ®uF 1 X o Il Tt 9 ¥
(4) wu 1 3fX & 11 T orae & |
T BUAl % Y Bl TR
A. W@ﬁmﬁﬁw% % qw TIF 2 € o "aig Tt
g
B. W(W)%gwwmwﬁmﬂﬁ
g
C. orfyeist T@—quiTa aefier o, dRrTeseT Hiet 2
Y A (I9) Ed B
D. %® Tagral (STESIEEEE) b UXRTHT @ ST
ﬂﬁﬁ(ﬁ“ﬁﬁ)@[@l?{ﬁ%l
E. %9 JqRval (ST3SIeEed) o, TTRTHUN &l Sid
% 3y & g &0 @ & S S #
ra fau T fysedt & & @2 sO) @l g

(1) &aw A, C,D3RE
(2) ®a@ B, C,DE
(3) ®aw@ C,DRE

(4) %aa A, B, C 3D

% g9 fdsd BIEad RS & HEAH A
BERIGES
(1) geamawen (TIrhe) (2)  sicamawn (SArs)

(3) yatawenm (WhsT)  (4) wenTeRT (HT)
Al 1 o1 g 1 & frae it
| Tl
U 99 o of a1 it L AT HhToT
Jeh{each HET (S 1a)
F, afa &1 swgrsit 1. o
AT T h & qTY (w3
el
F, gafa &1 foeet . uo
Gﬁrcs % T GBI
uTey § U el IV.  deome
Eakste| GHLIT
(3 wE)
I fau 1o fysedt & & w& ST¢ @ g
(1) A-III, B-1V, C-I, D-II
(2) A-1V, B-III, C-II, D-1
(3) A-L B-II, C-III, D-IV

4) A-I, B-I, C-III, D-IV
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Match List I with List II
List I

Rhizopus L.
Ustilago 1L
Puccinia III. Bread mould
Agaricus IV. Rust fungus

Choose the correct answer from the options given
below:

(1) A-II, B-II, C-I, D-IV

(2) A-IV, B-III, C-II, D-I

(3) A-IIL, B-II, C-1V, D-1

(4) A-L B-IL C-II, D-IV

List IT
Mushroom
Smut fungus

Given below are two statements:

Statement I : Parenchyma is living but
collenchyma is dead tissue.

Statement II : Gymnosperms lack xylem vessels
but presence of xylem vessels is the characteristic
of angiosperms.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is true but Statement Il is false
(2) Statement I is false but Statement Il is true
(3) Both Statement I and Statement II are true
(4) Both Statement I and Statement II are false

How many molecules of ATP and NADPH are

required for every molecule of CO, fixed in the

Calvin cycle?

(1) 3 molecules of ATP and 3 molecules of
NADPH

(2) 3 molecules of ATP and 2 molecules of
NADPH

(3) 2 molecules of ATP and 3 molecules of

NADPH

(4) 2 molecules of ATP and 2 molecules of

NADPH

List of endangered species was released by-
(1) FOAM (2) TUCN
(3) GEAC (4) WWF

Lecithin, a small molecular weight organic
compound found in living tissues, is an example
of:

(1) Glycerides
(3) Amino acids

(2) Carbohydrates
(4) Phospholipids

Which of the following is an example of
actinomorphic flower?

(1) Pisum (2) Sesbania

(3) Datura (4) Cassia
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Al 1 o1 gt 1 & free it

T 1 T 11

AT I HEA

et II. @2 (&) Bad
geRdfrar 1. s A& & Bha
TIR%d IV. & (fhze) ®a%
:ﬁ%r fau 1o fysedt & & @& STX @ g

(1) A-II, B-II, C-1, D-IV

(2) A-1V, B-II1, C-I1, D-I

(3) A-II, B-II, C-1V, D-1

(4) A-l, B-IL, C-II, D-IV

g 3 B few o ¥

Fo 1 : 3% I Wi SeTIash Jd Hadh o |
w11 : =g (smrgaditnal) & ame atfewd
(emgadiferar) ol fagromr 31

U %I b 3Tl H, U U fashedt 7 9 w21 3¢
@ g

(1) a9 e afep B 11 e 2 |

(2) ®uT 1 3EE Wi bu 11 9T 2|

(3) ®UA 1 3 %o 1 31 9 B |

(4) ®u 1 3T Bu 11 <Y oree & |

o0 W

i ash o ARG e A CO, % TS 317
g ATP 3Rk NADPH & feha STu[aii @1 aTasdehar
Bl & 7

(1) ATP % A &9 31k NADPH & 3 &1

(2) ATP % @9 &1 3t NADPH & 2 a17]

(3) ATP % a1 &1 31 NADPH & 3 &1

(4) ATP & < &1 3k NADPH & 2 &17]

eI (THeTe) TSNS gal o &I foverat

HERIT
(1) FOAM
(3) GEAC

(2) IUCN
(4) WWF

TSl SHadl § Gl S a1l Uh 3 379 WK A
HIEH AT T %1 T% IAE 2 |
(1) faess (2) wETEESe

(3) THH et (4) wrEpifats

Frrefafaa & & #F a1 Bt (TeEmhe) 7o
%1 T SETEL & 7
(1) urzaq
(3) sga

2) a&Efar
(4) @fmEr
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What is the fate of a piece of DNA carrying only
gene of interest which is transferred into an alien
organism?

A. The piece of DNA would be able to multiply
itself independently in the progeny cells of
the organism.

B. It may get integrated into the genome of the
recipient.

C. It may multiply and be inherited along with
the host DNA.

D. The alien piece of DNA is not an integral
part of chromosome.

E. It shows ability to replicate.

Choose the correct answer from the options given

below:

(1) Band Conly

(3) A andBonly

(2) A andE only
(4) D andE only

Hind II always cuts DNA molecules at a particular
point called recognition sequence and it consists
of:

(1) 4bp
(3) 8bp

(2) 10bp
(4) 6bp

Which of the following are required for the dark
reaction of photosynthesis?

A. Light B. Chlorophyll

C. CO, D. ATP

E. NADPH

Choose the correct answer from the options given
below:

(1) C,DandE only

(2) DandE only

(3) A,BandC only

(4) B, CandD only

Identify the part of the seed from the given figure
which is destined to form root when the seed
germinates.

(1) C
3) A

2) D
4) B
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3G SIUAY WS Bl T At el o R U Uy gitsd

S @bt e fop &, ST ot fersmrier siar & e

fpa s % ?

A.  DNA &% G Si1a &I Fafd HIerei o @ &9
Y IO B H FEH ST

B. 9% U@ & WWg § GRfhd & Gt B

C. AT HTh TN (L) SITAT &% A1 LI
HT bl & |

D. DNA & 9 €S Jorgs &1 1= 91T 72}
BT 2|

E. 3 vfugfa &0 & emar yaiia & 31

I faw o faeedt § 9 98 SO @ ghTT:
(1) da@BaRC (2) %ad ASRE
(3) HaAANB  (4) FHaw DIRE

Hind 11 SigA e &l daa Ua F1aq f&g ax drean
2 T arfirer ot (Remiler died=a) &hed 2, 8T
ESERIC RS
(1) 4bp
(3) 8bp

(2) 10bp
(4) 6bp

TeBTTE SO Y TSt atfufehan & fow Frfafaa & &
[ERCIRGICERE IR

A. I B. aRtea (qofsfa)

C. CO, D. ATP

E. NADPH

T fau 1o fqeedt & & w& IOX @ g
(1) waa C,DRE

(2) waw@ D3R E

(3) %aw A, BaiRC

(4) waw B, C 3D

faw o fomr & et & F 9T N TEE™ BT S S
% SIPIT B UX TS B I &
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Botany : Section-B (Q. No. 136 to 150)

136

137

138

139

T6_

In an ecosystem if the Net Primary Productivity
(NPP) of first trophic level is
100x (kcal m™2 ) yr_1 , what would be the GPP
(Gross Primary Productivity) of the third
trophic level of the same ecosystem?
(1) 10x (kcal m_z) yr_1
2) 100x (kcal m- )yr
3) il (kcal m72) yfl
10
4)  x(keal m™2) yr~!
Match List I with List 11
List I List IT
A. Citric acid I.  Cytoplasm
cycle
Glycolysis II.  Mitochondrial
matrix
C. Electron [II. Intermembrane
transport space of
system mitochondria
D. Proton IV. Inner
gradient mitochondrial
membrane
Choose the correct answer from the options given
below:
(1) A-III, B-1V, C-1, D-1I
(2) A-IV, B-III, C-II, D-I
(3) A-L, B-II, C-III, D-IV
(4) A-IL, B-l, C-1V, D-III
Match List I with List II
List I List IT
(Types of Stamens) (Example)
A. Monoadelphous 1.  Citrus
B. Diadelphous II. Pea
C. Polyadelphous III. Lily

D. Epiphyllous IV. China-rose
Choose the correct answer from the options given
below:
(1) A-L, B-II, C-1V, D-II
(2) A-IL B-L, C-1V, D-II
(3) A-1V, B-II, C-1, D-III
(4) A-1V, B, C-I1, D-1II

Given below are two statements:

Statement I : In C; plants, some O, binds to
RuBisCO, hence COZ fixation is decreased
Statement IT : In C 4 plants, mesophyll cells show
very little photorespiration while bundle sheath
cells do not show photorespiration.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is true but Statement II is false
(2) Statement I is false but Statement Il is true
(3) Both Statement I and Statement II are true
(4) Both Statement I and Statement II are false
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136 el wRafas o (SHiReeA) o afe gom il &1

137 @%ﬁw@llﬁﬁﬁﬁw

A
B.
C

%1 2 yrerftep SeraT (NPP) 100x (kcal m™2) wfiiad
T 99 34 uiftRafae o5 & gad 9w & GPP
(Fehet Wit IeTe) T BT 2
(1) 10x (kcal mfz) BIEN]

100x

) wlﬂﬁm

3)
)

% (kcal m72) PIREL]
x (kecal m_z) EIRCH

. aisfed erxa—dsh
TSR AT
IR ST
[EVESEFR AU
e

PIEE R UK

ESSU
T fau 1o et & & w& ST @ g
(1) A-III, B-1V, C-1I, D-lI
A-1V, B-11I, C-I1, D-1
A-I, B-II, C-III, D-IV
A-IL, B-1, C-1V, D-III

L.
I1.
II.

IV.

138 T [ &1 gl 11 & Fram st

139

OO0 W

T
(48 & TNR)
THATH! (IS Hy)
fagd (STguseha)
Al (TS Thd) 1. forett
arfraefi/afea @ IV. a1 TS/ Sed
:ﬁ%r fau T fyseat & & @& STX @ gh:
(1) A-1, B-II, C-1V, D-III
(2) A-II, B-L, C-1V, D-II
(3) A-1V, B-II, C-1, D-III
(4) A-1V, B-1, C-II, D-III

T < wue feg o

F 1 : C, wreHl &, 3% O, wf@ (RuBisCO) A sg
Eﬁnﬁ’r% ara: CO, HH T ST 2 |
F11: C, qmtﬁﬁ UHEAA® HIRTET T8 BH
LEANFEKE utf%faem?ﬁ% Sfh JATSBE HINHT
TeRISTYTT WEI3Td el bl & |
wﬁaamﬁ%amha:ﬁ fam TTq faenedl # @ @i ST

(1)
()
3)
4

Tl

(SerET™)
I faga
I @

mmlw%éﬁmmwllm%
HU | 3T T Al w1 9 31
%Y | 3 %o 11 S 9

%U | 8T ®u= 11 SH1 o1 2|
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Which of the following statement is correct
regarding the process of replication in E.coli?
(1) The DNA dependent DNA polymerase
catalyses polymerization in 5> — 3’ as well
as 3’ — 5’ direction.

The DNA dependent DNA polymerase
catalyses polymerization in 5° — 3’ direction.
The DNA dependent DNA polymerase
catalyses polymerization in one direction
thatis 3> 5°.

The DNA dependent RNA polymerase
catalyses polymerization in one direction,
thatis 5°—3°.

)
)

4

Read the following statements and choose the set
of correct statements:
In the members of Phacophyceae,

A. Asexual reproduction occurs usually by
biflagellate zoospores.

B.  Sexual reproduction is by oogamous method
only.

C. Stored food is in the form of carbohydrates
which is either mannitol or laminarin.

D. The major pigments found are chlorophyll
a, ¢ and carotenoids and xanthophyll.

E. Vegetative cells have a cellulosic wall,

usually covered on the outside by gelatinous
coating of algin.

Choose the correct answer from the options given

below:

(1) A,C,DandE only

(2) A,B,CandE only

(3) A,B,CandD only

(4) B,C,DandE only

Match List [ with List II

List I List IT

GLUT-4 [.  Hormone

Insulin II.  Enzyme

Trypsin III. Intercellular
ground substance

Collagen IV. Enables glucose

transport into cells
Choose the correct answer from the options given
below:
(1) A-IL B-III, C-1V, D-1
(2) A-IL B-1V, C-I, D-II
(3) A-1V, B-I, C-II, D-III
4) A-L B-II, C-lII, D-IV
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A
B.
C

g.piE ¥ Uiagpiaas (Tha™) 1 UihdT & dad &

frefafad ¥ @ PR A e @ 2 ?

(1) S 1T ST WemE 57— 37 % qeg—ary
3’5 faem H Al qgADIBIT Bl SHNG Bl
gl

(2) o ffR oy dedmE 5030 fEen |
EADIBIT Bl ST BT & |

(3) 2w (DNA) fiR SiueT graE us G &
Ml 3’ —>5° H TEADIH I Bl AN HIT 8 |

(4) oAt iR seaT (RNA) qiimE Te fgom
HAMI5° — 3" F TEADIBIT Bl IUN BT & |

frrfeiaad ot i ufen ofit @&l Bt & 9 ® ghmu:
TraTeIzdl % gewl ¥,

A. 3R S99 ur: famamdt SR (st 9@
deTroya) % g B o

B. it S dhaw fawrgmal (Seira) fafy &
BT

C. dfud @ aleEse & &9 A 8T & ol Aiera
YT A B

D. 9T 9N 9@ g avie quiEid/FIined a,
3R HAUTEAT3S quUT ST & |

E. aiiies sifyrebrstt § Sgarar fafa e &, i et

Bl 3T U: Tfest™ o feifet e 9 smafid
Tl 8

e few U fasedt 7 9 & SO @ g
(1) %aa A,C,DaRE
(2) %aw A, B, C3iRE
(3) ®waw@ A, B, C a3k D
(4) ®a@ B, C,DsXE

Al [ o1 g 1 | fra it
T Tl
GLUT-4 I. EMH
gy . u=mew
et II. ST
ey gared
EACEE] V. wifarst & e
% FTH Bl o
RIS
ra fau T fysedt & & @& ST @l g
(1) A-II, B-IIL, C-1V, D-I
(2) A-II, B-1V, C-1, D-II
(3) A-1V, B-1, C-II, D-III

(4) A-L B-IL, C-III, D-IV
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Match List I with List I1
List I List IT
A. Frederick I.  Genetic code
Griffith
B. Francois Jacob II. Semi-conservative
& Jacque mode of DNA
Monod replication
C. Har Gobind III. Transformation
Khorana
D. Meselson & IV. Lac operon
Stahl
Choose the correct answer from the options given
below:
(1) A-II, B-IIL, C-1V, D-I
(2) A-IV, B-1, C-II, D-II
(3) A-II, B-II, C-1, D-IV
(4) A-III, B-1V, C-1, D-1I
Spraying sugarcane crop with which of the

following plant growth regulators, increases the
length of stem, thus, increasing the yield?

(1) Cytokinin 2)
(3) Auxin %)

145 Match List I with List 11
List I
A. Robert May

B. Alexander von II.
Humboldt

C. Paul Ehrlich I11.

D. David Tilman IV.

Abscisic acid
Gibberellin

List IT
Species-Area
relationship
Long term
ecosystem
experiment using
out door plots
Global species
diversity at about
7 million

Rivet popper
hypothesis

Choose the correct answer from the options given

below:

(1) A-L B-III, C-II, D-IV
(2) A-II, B-1V, C-II, D-I
(3) A-II B-III, C-1, D-IV
(4) A-II, B-1, C-IV, D-II
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A.

a

D

144

145

T Lot ga 11 9 free sifrg:

w1 Ll

weiia fiftey ST %
(fes @re)
<Y wfcepfaa
@ eref—weel wsfa

L

Yopizd we Td 1L
SERIEIE

T MR @ M. &R

. HOEET U ' IV. do—auas
ra fau 1o fyaedt & & @& ST @ ghw:
(1) A-I1, B-III, C-1V, D-I

(2) A-1V, B-I, C-II, D-III

(3) A-IIL B-II, C-1, D-IV

(4) A-III, B-1V, C-I, D-II

T &1 GHA | Frefaiad arew gl Frismt & & faam
fsgemra BT A d Bl WaTS §¢ Wl 8, fSiah waaey
SusT H ghg Bl 5 7

(1) arEarEH (2) Tt e
(3) et (4) faifes
T [ ot g 11§ e shifse:
T Tl
. T I Sfq—&sed g
. Ufdet=T A I STSeSR Wi &
T SUART ET drataty
urfiRafe d
RRtEM|
LIGAUKED 1. 3Afyaes sl fafaear
THT 70 |
(7 tuferam)
. e e V. fEe—umx
BIECREIl
I faw o faeedt ¥ 9 /& 39X A ghw
(1) A-I, B-III, C-II, D-IV

)
3)
4

A-I11, B-1V, C-II, D-1
A-I1, B-II, C-1, D-IV
A-III, B-1, C-1V, D-1I
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The DNA present in chloroplast is:
(1) Linear, single stranded

(2) Circular, single stranded

(3) Linear, double stranded

(4) Circular, double stranded

Match List I with List II

List I List IT
A. Rose I.  Twisted aestivation
B. Pea II. Perigynous flower
C. Cotton [II. Drupe
D. Mango IV. Marginal placentation

Choose the correct answer from the options given
below:

(1) A-IV, B-III, C-II, D-I

(2) A-IL, B-IIL, C-1V, D-I

(3) A-IL, B-1V, C-I, D-III

(4) A-lL, B-II, C-III, D-IV

Identify the step in tricarboxylic acid cycle, which
does not involve oxidation of substrate.

(1) Succinyl-CoA — Succinic acid

(2) Isocitrate - o -ketoglutaric acid

(3) Malic acid — Oxaloacetic acid
(4) Succinic acid — Malic acid

Which of the following are fused in somatic
hybridization involving two varieties of plants?

(M
)
3)
4

Identify the correct description about the given
figure:

Protoplasts
Pollens
Callus

Somatic embryos

Cleistogamous flowers showing autogamy.
Compact inflorescence showing complete
autogamy.

Wind pollinated plant inflorescence showing
flowers with well exposed stamens.

Water pollinated flowers showing stamens
with mucilaginous covering.
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amas (Fae) ¥ Iuiad DNA/ZTAT &:
(1) e, The=s

(2) I, THATH

(3) aw, fatoss

(4) 9, fags

Al 1 o1 g 1 | fra it

T T 11

NGIE] I =mafid gwed g
7T . i go

HUTH A BeA/gd

D. am™ qHia dersaE
:ﬁ%%qmﬁaﬁq‘fﬁ@mﬁwaﬁgﬁrq

(1) A-1V, B-III, C-I1, D-I

(2) A-I, B-III, C-1V, D-1

(3) A-I, B-1V, C-1, D-1IT

4) A-1, B-II, C-III, D-IV
ZIFHIEITRA(cIch 3T sk o 36 TLIT B U&A HifeT,
o fpanem/aese &1 sTiadie T T2 &iar &:
(1) TFEA-CoA — Tald T

(2) HAEEEELZ > o- 3T

(3) ufe ot — STFawITHICH T

(4) T I — Afeid o

et i &l feheAl bl GRAfAT B IR Bl G |
Frrfafad & & fohTar g g & 7

(1) drRrm

(2) YWwWTHRIT

(3) Hwd

(4) iiddh qu

few T fo & we e &1 weant:

o w >

(1) Wﬁ(aﬁﬁtﬁ)aﬁ‘c{sﬁ%@m@wﬂw
(FAE) g

(2) ot T@Rg A (ST Bl qrfd U Hed
(i) JoTehd

(3) gaqﬂﬁag%mﬁzﬁrasﬁﬁgqirrgwﬁmw

&1 THHH
(4) SO SATERVT I YhETl B &M Y T
T g
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152
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154

Match List [ with List II :

List I List IT

a-1 antitrypsin I.  Cotton bollworm
Cry IAb II.  ADA deficiency
Cry [Ac III. Emphysema
Enzyme IV. Corn borer

replacement therapy
Choose the correct answer from the options given
below :
(1) A-II, B-1V, C-I, D-II
(2) A-IL B-1V, C-1, D-III
(3) A-IL B-L, C-1V, D-lII
(4) A-II, B-1, C-1I, D-IV

Given below are two statements :

Statement I : The presence or absence of hymen
is not a reliable indicator of virginity.
Statement II : The hymen is torn during the first
coitus only.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Statement I is true but Statement II is false
(2) Statement I is false but Statement Il is true
(3) Both Statement I and Statement II are true
(4) Both Statement I and Statement II are false

Match List I with List II :
List I List IT
Pterophyllum I.  Hag fish
Myxine Il.  Saw fish
Pristis III. Angel fish
Exocoetus IV. Flying fish

Choose the correct answer from the options given
below :

(1) A-1V, B-I, C-II, D-I1I

(2) A-III, B-11, C-I, D-1V

(3) A-IL, B-I, C-III, D-IV

(4) A-II, B-1, C-1I, D-IV

Given below are two statements : one is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : FSH acts upon ovarian follicles in

female and Leydig cells in male.

Reason R : Growing ovarian follicles secrete

estrogen in female while interstitial cells secrete

androgen in male human being.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Aistrue but R is false

(2) A s false but R is true

(3) Both A and R are true and R is the correct
explanation of A.

(4) Both A and R are true but R is NOT the

correct explanation of A.
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151 o 1ot g 11 & | gafad &3

152

SOowp

Tl

o.-1 géfeieT
wE [T

ER R
USIZH e
Faferen

=1 faspedl & 9E 3 &1 99 &
(1) A-II, B-1V, C-1, D-II

(2) A, B-1V, C-1, D-IT

(3) A-IL, B-I, C-1V, D-III

(4) A-IIL B-L, C-II, D-IV

e 3 e few o ¥

o 1 : Fifresg &1 SuRafa ar sruiafa s &
fayeeria gas = 31

F4A 11 : A ad Ugd GHAT % S 2 Bl § 1
I TS 7T HeAT &b TebtsT H g foU 1T famed! ° T2
I BN TIT B

(1) %9919 T WfehT %o 11 318 &1

(2) %I 3E & Afeh B 11 9 1

(3) =i &ue I 8T & 11 8 2|

(4) < B 1 % B 11 erEe ¥

T 11

HUTH T
T 27 T Bl HHT
EIRIRAIG]
HefhT Bah

L.
II.
II1.
Iv.

153 ot [t gt 11 % @rer gafad sa-

154

o0wp

T 1 T 11
. NifbwTa I F ey
Frerars II. 3T 9%e
Hfifeq II. dote 9=l
. TR IV. SS9 98l
e forehedt & TEY ST &1 99 B

(1) A-1V, B-I, C-I1, D-1II
(2) A-II, B-II, C-1, D-IV
(3) A-IL, B-I, C-III, D-1V
4) A-I, B-1, C-I1, D-IV
I 31 HeF el T 2 U sfvee A 9 g
FTR T
AHFHLA A : THIETT AGT § 3fS19i geal ot T H
TS BIfYTeBTSN U B HIAT 2 |
FRT R : 76T ghg B 3T SRl geh T
HIfd HId & Sdeh 7 7T H SIS HITeBIE T
|rferd BTl & |
YT f&U U BT % WehteT H Ard fqu T faehedt & we
IAX BT TIA HBA:
(1) Aga? dfed R /@A Bl
(2) A ¥Hd ¥ AleT R T 1
(3) IAMAFRRETAE 3R, A BT &1 TEHI 7 |
(4) I A X R T & @b R, A &1 &I Wb

T
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Which of the following is not a component of
Fallopian tube?

(1) Infundibulum (2) Ampulla

(3) Uterine fundus (4) Isthmus

Which of the following is not a natural/traditional
contraceptive method?

(1) Lactational amenorrhea

(2) Vaults

(3) Coitus interruptus

(4) Periodic abstinence

Match List I with List IT :
List I List IT
Typhoid I.  Fungus
Leishmaniasis II. Nematode
Ringworm III.  Protozoa
Filariasis IV. Bacteria

Choose the correct answer from the options given
below :

(1) A-II, B-1, C-1V, D-II

(2) A-IL B-1V, C-1II, D-1

(3) A-L B-III, C-1I, D-IV

(4) A-1V, B-IL C-1, D-II

Given below are two statements : one is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : Breast-feeding during initial period

of infant growth is recommended by doctors for

bringing a healthy baby.

Reason R : Colostrum contains several antibodies

absolutely essential to develop resistance for the

new born baby.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) A s correct but R is not correct.

(2) A isnot correct but R is correct.

(3) Both A and R are correct and R is the correct
explanation of A.

(4) Both A and R are correct but R is NOT the

correct explanation of A.

Which one of the following factors will not affect
the Hardy-Weinberg equilibrium?

(1) Gene migration

(2) Constant gene pool

(3) Genetic recombination

(4) Genetic drift

Which of the following statements is incorrect?

(1) Bio-reactors are used to produce small scale
bacterial cultures.

(2) Bio-reactors have an agitator system,

an oxygen delivery system and foam control

system.

(3) A bio-reactor provides optimal growth
conditions for achieving the desired product.

(4) Most commonly used bio-reactors are of

stirring type.
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(1) w®us (2) ferepr
3) TR heg 4 EEANEE]
ﬁw%ﬁaﬁ?@q@%mmﬂﬁﬁﬁ%ﬁfﬁ
TR T?
(1) U™ S
(2) awe
(3) @Iz 3™
(4) omatys G99

157 &t [t gt 1 & @rer gafad s
T 1 T 11
. TAWIES . was
RINEIREGI] . e
farand . et
. wEAraiE IV. Siamg
e forehedt & T ST &1 99T B
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(1) A-IIL B-I, C-1V, D-II
(2) A-IL, B-1V, C-1II, D-I
(3) A-l, B-IL, C-II, D-IV
(4) A-1V, B-III, C-I, D-II

a3t o o T ¥ 3 ue sfres A iR gE
FRR T
st A : iy & @y faam™ & fag el ghe &
NS B H $B qHT q% (T 1319 Bl WA
HT B T8 3d ¢ |
FR R : BIAT & %3 YbK &b Uiael ad &
Festa Tyl # Ui @9 SO B % g I
SMETH BN & |
3T fau U Al & gaeteT ® A QU U faemedt @
T e ST Bl T B
(1) A9 % wfesT R o 2
(2) A 7ed & @fee R @81 7
(3) AR T TR, A T &1 WHHIU & |
m)ﬁ?ﬁmmﬁﬁm&Awﬁwmw
|
1 o @19 |1 g TTET I9e arar Bl GHIad e
HOM ?
(1) <™ yam=
(2) Rax i q@
(3)  argeifrd gt
(4) et faaad
1 U=l A i w1 TTEd ® 7
(1) AU 81 A # Sian] G949 & Iared
% fore Sy A @me i ¥
(2) sEIuaRR ® UH Yelives [, e y&d
GERCEILRECE LK PRI RS
(3) TS IEIRUFRT Fifsd IAE I % fag
TG Rafaat JaT e 81
(4) fadiied yaR & IR gaffus Suam &
amd ¥
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161 Three types of muscles are given as a, b and c.

Identify the correct matching pair along with their
location in human body

()
Name of muscle/location

(a) (b)
(M (a)
(b)
(c)
(a)
(b)
(c)
(a)
(b)
(c)
(a)
(b)
(c)

Skeletal - Biceps
Involuntary - Intestine
Smooth - Heart.
Involuntary - Nose tip
Skeletal - Bone
Cardiac - Heart.
Smooth - Toes
Skeletal - Legs
Cardiac - Heart.
Skeletal - Triceps
Smooth - Stomach
Cardiac - Heart.

)

3)

4

162 Match List I with List II :

List I
Cocaine I.

List II

Effective sedative in
surgery

Cannabis sativa
Morphine . Erythroxylum
Marijuana IV. Papaver somnlferum
Choose the correct answer from the options given
below :

(1) A-IL, B-L, C-11I, D-IV

(2) A-I, B-1V, C-1, D-1I

3) A-1V, B-lI, C-1, D-II

(4) A-l, B-III, C-II, D-IV

Heroin I1.

oow »

163 Match List I with List IT :

List I
A. Pons

List IT

Provides additional
space for Neurons,
regulates posture
and balance.
Controls
respiration and
gastric secretions.
Connects different
regions of the
brain.

Neuro secretory
cells

Choose the correct answer from the options given
below :

(1) A-L B-IL C-II, D-IV

(2) A-IL, B-l, C-1II, D-IV

(3) A-IL, B-III, C-1, D-1V

(4) A-III, B-1V, C-I1, D-I

L.

B. Hypothalamus 1L

C. Medulla I11.

D. Cerebellum IV.
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a,bTd c & &9 H AT YhC Bl USh
W@Tﬁﬂ%wsﬁrﬁm

Ueft 1 wm / Rt

(1) (a) HhamE — fafres
(b) emifes® — ot
(c) Tl —zea

(a) emife® — A &1
(b) e — iy
(c) &m—&d

(a) Taeit — raife
(b) e — 20T

() Tm-&d

(a) HaEE — iR
(b) famt — smETe
(c) &m—&d

)

3)

4

162 qaﬁlaﬁx@lla;mgermwﬁ—

163 T | &1 gl 11 & |y gafaa &
T T

@1
%ﬁsﬂ

T 11
JTaishaT § THTE! 9THS
1. &fsg @273317
i II. QRgIvIETH
ST V. o997 @B
ﬁwl frepeal @ T& ST &1 TIT HU:
(1) A-II, B-1, C-III, D-1V
(2) A-II B-1V, C-1, D-lI
(3) A-IV, B-IIL, C-I, D-II
(4) A-L, B-III, C-II, D-IV

L.

OO

|
RIECAIFEIR e
arfafie @™ yem

A. dfE L.

B. FEW¥g@HET
C. #H=gan

I1I.

D. srAfRash IV. dfremamd sifsmeed
=1 faepedl & 981 39X @1 9 B

(1) A-L, B-III, C-II, D-IV

(2) A-II, B-1, C-III, D-1V

(3) A-I, B-III, C-I, D-IV

(4) A-IIL B-1V, C-II, D-I
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164 Which of the following are Autoimmune

165

disorders?

A. Myasthenia gravis

B. Rheumatoid arthritis

C. Gout

D. Muscular dystrophy

E. Systemic Lupus Erythematosus (SLE)
Choose the most appropriate answer from the
options given below :

(1) B,C&Eonly (2) C,D&Eonly

(3) A, B&Donly (4) A,B&Eonly

The “Ti plasmid” of Agrobacterium tumefaciens
stands for

(1) Tumor inducing plasmid

(2) Temperature independent plasmid

(3) Tumour inhibiting plasmid

(4) Tumor independent plasmid

166 Match List I with List II :

List I List IT

(Sub Phases of (Specific

Prophase I) characters)

Diakinesis I.  Synaptonemal
complex formation

Pachytene II. Completion of
terminalisation of
chiasmata

Zygotene III. Chromosomes
look like thin
threads

Leptotene IV. Appearance of
recombination
nodules

Choose the correct answer from the options given
below :

(1) A-IL B-1V, C-1, D-III

(2) A-1V, B-III, C-1I, D-1

(3) A-1V, B-II, C-1II, D-1

4) A-L B-II, C-1V, D-III

167 Match List I with List IT :

168

oOw

List I List IT
Non-medicated ITUD I.  Multiload 375
Copper releasing [IUD 1.  Progestogens
Hormone releasing [UD 1II. Lippes loop
Implants IV. LNG-20

Choose the correct answer from the options given
below :

(1) A-1V, B-I, C-II, D-III

(2) A-IL, B-I, C-1V, D-II

(3) A-II, B-I, C-II, D-1V

(4) A-IL, B-III, C-1V, D-II

Consider the following statements :

A. Annelids are true coelomates

B. Poriferans are pseudocoelomates

C. Aschelminthes are acoelomates

D. Platyhelminthes are pseudocoelomates
Choose the correct answer from the options given
below :

(1) Conly
(3) Bonly

(2) Donly
(4) Aonly
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164 =1 & B9 wufoen faer ¥ ?

165

EINSIERIBICK]
TS |l one

M3

Ui gedryor

et ua Thafeed (Td uT §)
Wﬁw&wwwwwwﬁ

(1) ®aa@ B,C8iRE (2) %aw@ C,DsiRE
(3) ®wa@ A,B3iRD (4) %ad A, B3RE

g T ZgHbRaT % Ti @iteds &1 &1 &
(1) I ws
(2) AIHH WA WIHS
(3) =R FRIE @S
(4) TR @ TS

mO0w >

166 T [ &t gt 11 % @rer gafed wa—

oW

T 1 T 11
(qataeen 1 31 9 sraen)  (fafame wemon)
qrOTishd I. R aftag
&1 fHtor
AT I &I &
ERINIEEERUEIE|
gz I oS gae am S
feaa &
aquee IV. gaatem dfiend
feams <t €
1 Tasbeal € 981 AT &1 99 B
(1) A-II, B-1V, C-1, D-1II
(2) A-1V, B-III1, C-I1, D-I
(3) A-1V, B-11, C-IIL D-I
(4) A-l, B-II, C-1V, D-1II
167 g [ &f gar 11 % @1y Fared wa—
T 1 T 11
SfiufeRfeq smggst I w&as 375
GIIECE RGPS II. WeeeH
THIA A STEge! 1. foda g
sfadig IV. Taessi-20
ﬁm forepedt & TEI ST BT T B

168

(1) A-IV, B-I, C-II, D-TII
(2) A-IIL B-I, C-IV, D-II
(3) A-IIL B, C-II, D-IV
(4) A-L B-IIL, C-1V, D-II

= Bl o faam &

A. TAfTS 9 TR B ©

B. dI% %2 [EF B ¥

C. UwharidieT eE™ e &
D. wRfed g EE B §

=1 faeeal & @ 921 ST &1 999 S
(1) e C (2) ¥a@D
(3) ¥a@ B (4) Faw A
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169 Which of the following factors are favourable for | 169 it & 7 & § BT | T2 i SmTaie g
the formation of oxyhaemoglobin in alveoli? ¥ g oga £ 7
(1) Low pCO, and High H" concentration 1) 7 pCO . S
(2) Low pCO, and High temperature (1) Pt QE[ © s
(3) High pO, and High pCO, (2) ® pCO, Td =a sk
(4) High pO, and Lesser H* concentration (3) s= pO, Td 3= pCO,
(4) == pO, uega &7 H' diza
170 Match List I with List II :
List I List IT
A. Fibrous joints I.  Adjacent 170 i 1 1 it 11 % e gferd &3
vertebrae, limited @ I ] '{I‘ﬁ I
movement A. 9T EiEr I opeadl ®ew,
B. Cartilaginous II.  Humerus and diftra ity
joints f(;c;?gigziglrdle, B. iy ga 1L 2 o o
movement wferal . A, ot i
C. Hinge 1. Skull, don’t C. e gt 1L  %Te, Hrg T
joints allow any REEK]]
movement D. &g @il IV. g, ga o
D. Ball and IV. Knee, help in it T T e
socket joints locomotion } .
Choose the correct answer from the options given e ferdedl & Wl ST BT 99w
below : (1) A-IL B-III, C-I, D-IV
(1) A-IIL, B-III, C-I, D-IV (2) A-III, B-1, C-1V, D-lI
(2) A-III, B-1, C-1V, D-II (3) A-1V, B-II, C-III, D-1
(3) A-1V, B-II, C-III, D-I 4) A-L B-III, C-II, D-IV
(4) A-L, B-IIL, C-II, D-IV
171 I 11 -
171 Match List T with List IT o E'i'ﬁiﬁ * WWT
List I List IT T T )
A. Lipase I.  Peptide bond A. U I UeEEdy
B. Nuclease II.  Ester bond B. gfrTast II. uwetdEy
g : IA’rotelase RI/ gﬁycolslidég bondb . C. Wfeus . TAE®HEEse aY
. Amylase : osphodiester bon D. wEd IV, wREsETes 4y
Choose the correct answer from the options given . . i
below - h pHORS £V 1 Taepeal & |21 ST &1 99 &
(1) A-II, B-1V, C-I, D-III () A-IL B-1V, C-1, D-111
(2) A-1V, B-IL, C-III, D-II (2) A-1V, B-I, C-III, D-1I
(3) A-1V, B-II, C-III, D-I (3) A-1V, B-II, C-III, D-1
(4) A-II, B-II, C-1, D-IV 4) A-II, B-II, C-1, D-IV
172 Mat-ch List I with List II : . 172 @ Ba ﬂ?‘ﬁ 1% @y ﬁﬁﬁ"‘lﬁ F-
ListI List IT I I
A. Down’ssyndrome 1. 11th chromosome T . T i
B. a-Thalassemia II. ‘X’ chromosome A. sred figm L 1t gorgs
C. B-Thalassemia II. 215t chromosome B. o-deritian IL X o
D. Klinefelter’s IV. 16th chromosome C. B-IerEfimn 11 219t o
syndrome . , D. FEThe fgM IV. 16at Torge
E:l(())(\):e-: the correct answer from the options given P NSV
(1) A-IIL, B-IV, C-I, D-I (1) A-III, B-1V, C-1, D-II
(2) A-1V, B-I, C-II, D-III (2) A-1V, B-I, C-II, D-III
(3) A-L B-II, C-III, D-IV (3) A-I, B-II, C-III, D-1V
(4) A-IL B-III, C-1V, D-1 (4) A-IL B-III, C-1V, D-1
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173

174

175

176

D. Airbladder

Given below are some stages of human evolution.
Arrange them in correct sequence. (Past to
Recent)

A. Homo habilis

B. Homo sapiens

C. Homo neanderthalensis

D. Homo erectus

Choose the correct sequence of human evolution
from the options given below :

(1) C-B-D-A (2) A-D-C-B
(3) D-A-C-B (4) B-A-D-C
Match List I with List II :
List I List IT
A. Pleurobrachia I.  Mollusca
B. Radula II. Ctenophora
C. Stomochord III. Osteichthyes

IV. Hemichordata
Choose the correct answer from the options given
below :

A-l1, B-1V, C-I, D-11

A-1V, B-111, C-I1, D-1

A-1V, B-11, C-II1, D-1

A-lI, B-1, C-1V, D-1I1

The flippers of the Penguins and Dolphins are
the example of the

(1) Convergent evolution

(2) Divergent evolution

(3) Adaptive radiation

(4) Natural selection

The following diagram showing restriction sites

in E.coli cloning vector pPBR322. Find the role of
‘X’ and ‘Y’ genes :

EcoR I—Cla g Hind III

Pvu Il
The gene ‘X’ is for protein involved in
replication of Plasmid and ‘¥ for resistance
to antibiotics.
Gene ‘X" is responsible for recognition sites
and ‘Y’ is responsible for antibiotic
resistance.
The gene X’ is responsible for resistance to
antibiotics and ‘Y’ for protein involved in
the replication of Plasmid.
The gene ‘X’ is responsible for controlling
the copy number of the linked DNA and ‘Y’
for protein involved in the replication of
Plasmid.

(M

)

3)

4
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173

174

A

D

175

176

T A fahTE ol B STawTd & TS © 1 590! (YA °
TdN) & GE HH § Farad & |

A. gt dfsea

B. &t dfigg

C. &t fgstdauiya

D. &M siaeg

o1 forehedl & AT Taete & G216 &1 I B
(1) C-B-D-A (2) A-D-C-B

(3) D-A-C-B (4) B-A-D-C

qﬁ’rla?r%gﬁllﬁimagﬁr%ﬁaﬂ“r—

%%?‘*33” i %%%

1. e
aﬁu
=

IV. #mse
[ § el I I TIT B

(1) A-II, B-1V, C-1, D-1IT

2) A—IV, B-III, C—II, D-1

(3) A-IV, B-I1, C-III, D-I
(4) Al B-I, C-IV, D-1II

tftae ofix sifew & fFue e
(1) tEmdy T @t

(2) 9ET faewrE @

(3) oI fatenoT B

(4) wTpfids a0 BT

e o 7T e ® F a#ierE st @ared pBR322
& yiee wa g T E X wd Y S @ fie
T I TS

EcoR I_\C\la I Hind I

Pvu II
S X S U S s b ufoefa H aftafd
¥ 3l Y ufersiferes o Wi wferdien
S X UEa ST % fa Sl g Ud Y
gieatfeds & ufa wfaiy & e Saem 21
S X wfeeiferes & wia wfae & fog s
T o Y’ o1 RN S wiee % uiasia A
gitwfed g ¥
S X s Siaea Y il S & Esr %
U STl ® iR Y S WidN S WihvHs &l
ufepfa & wftafad ¥

(M
)
3)

4
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177 Following are the stages of cell division :

178

179

180

181

oo

A. Gap 2 phase
B. Cytokinesis

C. Synthesis phase
D. Karyokinesis
E. Gap 1 phase

Choose the correct sequence of stages from the
options given below :

(1) B-D-E-A-C (2) E-C-A-D-B

(3) C-E-D-A-B (4) E-B-D-A-C

Match List I with List II :
List I List IT
Common cold I. Plasmodium
Haemozoin II.  Typhoid
Widal test III. Rhinoviruses
Allergy IV.  Dust mites

Choose the correct answer from the options given
below :

(1) A-II, B-1, C-1I, D-IV

(2) A-1V, B-1l, C-IIL, D-1

(3) A-IL B-1V, C-IL, D-1

(4) A-L B-III, C-1I, D-IV

In both sexes of cockroach, a pair of jointed
filamentous structures called anal cerci are present
on:

(1) 8t and 9th segment (2) 11t segment

(3) 5t segment (4) 10th segment

Match List I with List II :
List I List IT
Axoneme I.  Centriole
Cartwheel II. Cilia and flagella
pattern
Crista III. Chromosome
Satellite IV. Mitochondria

Choose the correct answer from the options given
below :

(1) A-IL, B-1V, C-I, D-III

(2) A-IL, B-I, C-IV, D-III

(3) A-IV, B-III, C-II, D-I

(4) A-1V, B-II, C-III, D-I

Which of the following is not a steroid hormone?
(1) Progesterone  (2) Glucagon
(3) Cortisol (4) Testosterone
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177 <d SifdteeT fauTe &7 Srawemd &1 T8 &

9 2 yrereen

HITBTEeT fauTer

TYYOT YrerEen

GE-CARRINE]

9 1 yreren

1 faseal & & srawenet & 9el %y &1 a9 HU:
(1) B-D-E-A-C (2) E-C-A-D-B

(3) C-E-D-A-B (4) E-B-D-A-C

A.

B.
C.
D
E.

178 gt [ &f gar 1 % @1y garad wa—

179

o0 w >

w1 @ 1
T b | R
S . <EwEs
forsTe wieror Il <EAEEE
el IV. ga faast

ﬁm forepedt & GEI ST BT T B

(1) A-II, B-1, C-II, D-IV

(2) A-1V, B-II, C-II1, D-I

(3) A-IL, B-1V, C-III, D-I

(4) A-1, B-III, C-II, D-1V

foeras & It fom & ue St wiige dga Seae

1% T @ wed &, SuRyd g &
(1) 8FsiR9F @ (2) lld@E U
(3) S¥@EW (4) 10§@s W

180 Tt I ot gt 1 o drer gAfera &l

181

>

T Tl
ST . & &%
EGRISIE AR Y II.  9ewTH U Bemiant
a9 e
fopeet 1. o
e IV. TR
ﬁl‘:[ fosedl & T2 ST &1 TIT B
(1) A-Il, B-1V, C-1, D-11I
(2) A, B-1, C-1V, D-1II
(3) A-1V, B-III, C-I1, D-1
4) A-1V, B-II, C-II1, D-1
1 o 9 €Rigs M 7ol & 7
(1) were™ (2) THFTA
(3) wEE (4) TERIA
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182

183

184

185

Given below are two statements :

Statement I : In the nephron, the descending limb
of loop of Henle is impermeable to water and
permeable to electrolytes.

Statement II : The proximal convoluted tubule
is lined by simple columnar brush border
epithelium and increases the surface area for
reabsorption.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Statement I is true but Statement II is false
(2) Statement I is false but Statement II is true
(3) Both Statement I and Statement II are true
(4) Both Statement I and Statement II are false

Which one is the correct product of DNA
dependent RNA polymerase to the given
template?

3’TACATGGCAAATATCCATTCAS’
(1) S AUGUACCGUUUAUAGGGAAGU3’
(2) 5’ATGTACCGTTTATAGGTAAGT3’
3) S>AUGUACCGUUUAUAGGUAAGU3’
(4) SAUGUAAAGUUUAUAGGUAAGU3’

Match List [ with List II :
ListI ListII
A. Expiratory I.  Expiratory reserve
capacity volume + Tidal
volume +
Inspiratory reserve
volume
B. Functional II.  Tidal volume +
residual Expiratory reserve
capacity volume
C. Vital capacity III. Tidal volume +
Inspiratory reserve
volume
D. Inspiratory IV. Expiratory reserve
capacity volume + Residual

volume

Choose the correct answer from the options given
below :

(1) A-IL B-I, C-1V, D-III

(2) A-L B-IL C-II, D-IV

(3) A-IL B-1V, C-1, D-II

(4) A-IIL B-II, C-1V, D-1

Following are the stages of pathway for

conduction of an action potential through the
heart:

A. AV bundle B. Purkinje fibres
C. AV node D. Bundle branches
E. SAnode

Choose the correct sequence of pathway from the
options given below :
(1) B-D-E-C-A
(3) E-C-A-D-B

(2) E-A-D-B-C
(4) A-E-C-B-D
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182

183

184

185

I <1 woe fgg o R

FA | : GRR1Y H S W bl STET] Yl ST o (e
JATCTY ¥ iR feega—sraeres & fog uror 7

o 11 : e afad Tfde! Tt &b g9l ST
IUHAT ¥ S Bl § 3N Y@y & foe gas &4
@ Ferdl 81

I fau 7T Bl % garsT H 1 faedl @ @81 3
1 T B

(1) %9919 T WfepT B 11 318 &1

(2) ®I1 36 & @febT Ba 11 9 &1

(3) < B &R Bu 11 9 B |

(4) < B 1 % B 11 erEe

faw g Traaie % forg o frft smer wiee T @
TG T BT ?
3’ TACATGGCAAATATCCATTCAS’

(1) 5’AUGUACCGUUUAUAGGGAAGU3’
(2) 5’ATGTACCGTTTATAGGTAAGT3’

3) 5’AUGUACCGUUUAUAGGUAAGU3’
(4) SAUGUAAAGUUUAUAGGUAAGU3’

Tl [ ot g 11 & a1 gafiad sa—
T 1 T 11
A. Taed aaan . Foees guida
A + ST
ST + 398
i smaas
B. fransia srafyre II. e e +
ALl 1 g gRfaa
CIBGE]
C. 9 &mar . S emeas +
3T gaE gfad
CIPLE]
D. 3id:9a@s & V. fyeas gefaa
STA + STafite
CIBLE]
1 faseal & 981 AT &1 99 B
(1) A-IL, B-I, C-1V, D-III
(2) A-l, B-IIL, C-II, D-IV
(3) A, B-1V, C-I, D-1II
(4) A-II, B-II, C-1V, D-1
&5 ¥ fepan fava & daga & Art &t 1 eremamd &
A. TwarEsA B. gxfehsl dg
C. uwdiyd D. =@ 9@
E. wauud
e faedt ® & ARt % T2 fased &1 a9 B
(1) B-D-E-C-A  (2) E-A-D-B-C
(3) E-C-A-D-B (4) A-E-C-B-D
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Zoology : Section-B (Q. No. 186 to 200) ‘

186 Match List I with List IT :

187

188

A.

List I

Unicellular glandular 1.
epithelium

Compound epithelium 1I.
Multicellular 1.
glandular epithelium
Endocrine glandular Moist surface of
epithelium buccal cavity
Choose the correct answer from the options given
below :

(1) A-IIL B-1V, C-I, D-II

(2) A-IL, B-L, C-1V, D-III

(3) A-IL B-, C-1II, D-IV

(4) A-1V, B-IL, C-1, D-II

Identify the correct option (A), (B), (C), (D) with
respect to spermatogenesis.

List IT
Salivary glands

Pancreas

Goblet cells of
alimentary canal
IV.

GnRH
[ | |
LH (A)
\ 2
® ©)
\ 2
Androgens Factors
1 )
Formation of spermatids (D)
(1) FSH, Sertoli cells, Leydig cells,
spermatogenesis.
(2) ICSH, Leydig cells, Sertoli cells,
spermatogenesis.
(3) FSH, Leydig cells, Sertoli cells,
spermiogenesis
(4) ICSH, Interstitial cells, Leydig cells,
spermiogenesis.

Regarding catalytic cycle of an enzyme action,
select the correct sequential steps :

A. Substrate enzyme complex formation.

B. Free enzyme ready to bind with another
substrate.

C. Release of products.

D. Chemical bonds of the substrate broken.

E. Substrate binding to active site.

Choose the correct answer from the options given
below :

(1) B,A,C,D,E
3) E,A,D,C,B

(2) E,D,
(4) AE

b b b

C, B, A
B,D,C
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186

187

188

A.

Tl [ ot g 11 & a1 gafiad sa—
T T I
T3 T I« gttt
SYHAT
KEESECECI II.  srs™
EERANEIR] II. ST T @
o Saear HAL BIITHIT
Siq-Eel U@ Sumben V. @ TRl &l 99 dd8

ﬁﬁr farenedl | Tl 3T &1 T B

(1) A-IIL B-1V, C-1, D-1I

(2) A-IL B-I, C-1V, D-III

(3) A-IL B-I, C-lII, D-IV

(4)  A-1V, B-1II, C-I, D-II

JbetA & @9 7 (A), (B), (C), (D) % |&Y ferdbed i
qEaml |

ot

| |

RSLS] GV

\ \:

®B) ©

{ A
LR B

\: 2

USTeRTY] T FrrAfor D)

(1) ThugUd, Feiel B, WifeT iy,
QBT
ST

LTI

ST

Teh USTIZH fehaniaIer o Saieh! <ish o HaH H el STIsH
T BT TG B

)
3)

)

A.  Toponam demgwH aftmg & i
B. Y& USIEH &1 o fpanam & §€9 & fau
T BT
C. TdE! &1 JEA|
D. TR & TErRtie ¢ 22 9§ |
E. fopamem o1 9ichar we ux dem|
e foehedt & 91 SR &1 99 B
(1) B,A,C,D,E (2) E,D,C,B,A
3) E,A,D,C,B 4 A E,B,D,C
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189 Match List I with List IT :

190

c 0w »

List I List IT

P wave I.  Heart muscles are
electrically silent.

QRS complex  II. Depolarisation of
ventricles.

T wave III. Depolarisation of
atria.

T-P gap IV. Repolarisation of
ventricles.

Choose the correct answer from the options given
below :

(1) A-IL B-III, C-1, D-IV

(2) A-1V, B-II, C-1, D-1I

(3) A-L B-III, C-1V, D-II

(4) A-IL, B-II, C-1V, D-1

Given below are two statements :

Statement I : Mitochondria and chloroplasts are
both double membrane bound organelles.
Statement II : Inner membrane of mitochondria
is relatively less permeable, as compared to
chloroplast.

Inthe light ofthe above statements, choose the most
appropriate answer from the options given below :

(1) Statement I is correct but Statement II is
incorrect.
(2) Statement I is incorrect but Statement II is
correct.
(3) Both StatementI and Statement Il are correct.
(4) Both Statement I and Statement II are
incorrect.
191 Match List I with List II :
List I List IT
RNA polymerase I11 I.  snRNPs
Termination of
transcription II.  Promotor
Splicing of Exons III. Rho factor
TATA box IV. SnRNAs, tRNA

192

o0 Wy

Choose the correct answer from the options given
below :

(1) A-IIL, B-1V, C-I, D-II

(2) A-IV, B-III, C-I, D-1I

(3) A-II, B-IV, C-1, D-III

(4)  A-IIL, B-IL, C-1V, D-I

Given below are two statements :

Statement I : The cerebral hemispheres are

connected by nerve tract known as corpus

callosum.

Statement II : The brain stem consists of the

medulla oblongata, pons and cerebrum.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Statement I is correct but Statement II is
incorrect.

(2) Statement I is incorrect but Statement II is
correct.

(3) Both StatementI and Statement Il are correct.

(4) Both Statement I and Statement II are

incorrect.
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189

190

191

192

Tt [ ot gl 11 % @ gAfead -
T T
A. Paiw R RIFRIAEERIR
9T Bl §
1. fear & fagam
C. Tatn III. arferal e fagae
D. T-Piy V. et &1 ga:gau
o fasbeal & 981 AT &1 999 B
(1) A-IL, B-IIL, C-1, D-1V
(2) A-1V, B-11, C-1, D-III
(3) A-l, B-IL, C-1V, D-II
(4) A-III, B-I1, C-1V, D-1
T <1 pow fgg o B
F 1 : GABOTHN 3T FARTARE T Qre T fEreett
dftra s ¥
o 11 : GBI bl STl (el FARRE bl el §
STUEATHA HH UTCT Bl 5 |
U T3 1T HoAt & apreT ® e fasedl @ 999 9@
IAX BT TIT BAU:
(1) a1 98 & Al B 11 Ted 2 |
(2) ®u 1T & WieheT B 11 92 &)
(3) =i a1 8fiX B 11 9ET ¥ |
(4) < a1 8T B 1 Tad § |

Tt [ @t gdl 11 % @ gAfad wi—
il il

A. suAug@meat [ 1. snRNPs
B. 3@ &1 g . 3=Es
C. =K% B GHIYT M. T ®H
D. TATA (e IV. SnRNAs, tRNA

e faepedt & 981 IR @1 999 B

(1) A-IIL B-1V, C-1, D-II

(2) A-1V, B-III, C-I, D-II

(3) A-IL B-1V, C-1, D-III

(4) A-III, B-II, C-1V, D-I

I a1 e faw T R

e 1« yofrs T, dfest 92l &1 93 8 &
BT HATaH Bed & |

w11 : Aaws &9 § Asge siEarier, 9 sk
s arma )

TR U T4 Bl % gebier ® e foeedl o 999 T2
I BN TIT B

(1) a1 98 & Alep B 11 Tdd = |

(2) ®99 17 & e wa 11 &l 2|

(3) T wuA I six B I T B |

(4) < B 1 &R B 11 1o ¥

L

B. QRS gftag
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Given below are two statements :

Statement I : Bone marrow is the main lymphoid

organ where all blood cells including lymphocytes

are produced.

Statement II : Both bone marrow and thymus

provide micro environments for the development

and maturation of T-lymphocytes.

Inthe light ofthe above statements, choose the most

appropriate answer from the options given below :

(1) Statement I is correct but Statement II is
incorrect.

(2) Statement I is incorrect but Statement II is
correct.

(3) Both StatementI and Statement Il are correct.

(4) Both Statement I and Statement II are

incorrect.

Match List I with List Il related to digestive system
of cockroach.

List I List IT
The structures used I.  Gizzard
for storing of food.

Ring of 6-8 blind II.  Gastric
tubules at junction of Caeca
foregut and midgut.

Ring of 100-150 yellow  III. Malpighian
coloured thin tubules
filaments at junction of

midgut and hindgut.

The structures used IV. Crop

for grinding the food.
Choose the correct answer from the options given
below :
(1) A-IV, B-III, C-II, D-I
(2) A-IIL B-IL, C-1V, D-I
(3) A-IV, B-IL, C-III, D-I
(4) A-L B-IL C-1II, D-IV

Given below are two statements :

Statement I : Gause’s competitive exclusion
principle states that two closely related species
competing for different resources cannot exist
indefinitely.

Statement II : According to Gause’s principle,
during competition, the inferior will be eliminated.
This may be true if resources are limiting.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Statement I is true but Statement Il is false.
(2) Statement I is false but Statement Il is true.
(3) Both Statement I and Statement II are true.
(4) Both Statement I and Statement II are false.

Choose the correct statement given below

regarding juxta medullary nephron.

(1) Loop of Henle of juxta medullary nephron
runs deep into medulla.

(2) Juxta medullary nephrons outnumber the
cortical nephrons.

(3) Juxta medullary nephrons are located in the

columns of Bertini.

(4) Renal corpuscle of juxta medullary nephron

lies in the outer portion of the renal medulla.

T6_Hindi+English |

45

193

194

195

196

a3 B fyw o E:
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& ST BN T B
(1) %9919 & @fe a1 a0 2|
(2) %9917 & e Ba 11 &l 2|
(3) @ ®u I iR Ho 11 92 ¥ |
(4) < a1 8iX B 11 7Ted 2 |

foaaee & urae o= & dafaa g [ g 1 & arg
RRIKRICE

T 1 T 11
Qe GUTEd &Y & (g Suarm [ gooq
™ 1ol ST | |

ST 9 HETH o TR 9 I1.
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e 9 UL o ST I
100-150 diet 31 % vae agatt
HT ITg

Qe ! I e & fo

IYGF HLEATd

e forehedt & T ST &1 T B
(1) A-1V, B-II, C-I1, D-I

(2) A-IIL, B-II, C-1V, D-I

(3) A-1V, B-II, C-III, D-I

(4) A-lL B-II, C-1IL, D-IV
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197 The following are the statements about non-

chordates :

A. Pharynx is perforated by gill slits.

B. Notochord is absent.

C. Central nervous system is dorsal.

D. Heart is dorsal if present.

E. Post anal tail is absent.

Choose the most appropriate answer from the
options given below :

(1) B,D&Eonly (2) B,C&Donly

(3) A&Conly (4) A,B&Donly

198 Match List I with List IT :

oOw»

List I List IT

Mesozoic Era I.  Lower invertebrates
Proterozoic Era 1I. Fish & Amphibia
Cenozoic Era III. Birds & Reptiles
Paleozoic Era IV. Mammals

Choose the correct answer from the options given
below :

(1) A-L B-II, C-IV, D-II

(2) A-IL B-1, C-1V, D-II

(3) A-IlL, B-L, C-lII, D-IV

(4) A-IIL B-I, C-II, D-IV

199 Match List I with List IT :

200

A.

ListI ListII
Exophthalmic I.  Excess secretion of
goiter cortisol, moon face &
hyperglycemia
Acromegaly II.  Hypo-secretion

of thyroid hormone
and stunted growth.

Cushing’s III. Hyper secretion

syndrome ofthyroid hormone &
protruding eye balls.

Cretinism IV. Excessive secretion

of growth hormone.
Choose the correct answer from the options given
below :
(1) A-III, B-1V, C-1I, D-1
(2) A-IIL B-1V, C-I, D-II
(3) A-L B-III, C-1I, D-IV
(4) A-1V, B-1l, C-1, D-1II

As per ABO blood grouping system, the blood
group of father is B, mother is A" and child is
O*. Their respective genotype can be

A. IBi/TAi/ii B. IBIB/IAIA /i

C. TAIB/iIA/ 1B D. 1Ai/1Bi/1Ai

E. iB/ilA/IAIB

Choose the most appropriate answer from the
options given below :

(1) C&Bonly (2) D &E only

(3) Aonly (4) Bonly
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Ta Fr s @ ol el @
B. U {og] STURYd eidm &
C. =g dfer o g8 &rar &
D. &gy aft sufed 2iar & o 9o &rar &
E. 7T 499 Yo STuRyd gl &
o forpedt & Hod T2 SR BT T9 B

(1) &a@ B,D3XE (2) %aw B, C 3D
(3) HAAAINIC  (4) Haw A, B3R D

198 ot [ &t gt 1 & @rer gafed sa-

T gl
Aoigs qemed 1. e srmsies
Treleiss Jethed 1. ocg 9 Tmifean
. HHeig® Aeeed 1L uEl T wlgy
Yfaoigs meed [V, &@aard

ﬁn:r faeedi & & ST BT TIT B

(1) A-1, B-II, C-1V, D-III

(2) A-IIL B-1, C-1V, D-lI

(3) A-II, B-I, C-III, D-1V

(4) A-IIlL, B-I, C-II, D-IV

199 el & gt 11 % arer g dei—

Sow>

T 1 T 11

A. TFEdAtE [ ®IEE &l s
TS SAfereeisT el

B. atfoeraar II. o3A3S ETHI &l 37T
U1 Ud 36 gfE

C. i figm 1. oTEX1Es eM &l et
AU T IHY §Y
SERIGED

D. waan V. gfg eME &
STTIIH F0T

1 faeal & 91 AT &1 999 B

(1) A-IIL B-1V, C-I1, D-I
(2) A-IIL, B-1V, C-I, D-II
(3) A-L B-IIL C-II, D-IV
(4) A-1V, B-IL, C-1, D-III

200 ABO B4R ot yorelt % St fiar @1 sfux & B
A BT AT 3 = BT O ¥ 1 3% HAI: WHILEY B
gohd &

A. IBi/TAi/ii B. IBIB/IAIA/ii
C. TAIB/iIA/1Bi D. IAi/1Bi/ 1A
E. iIB/ilA/IAIB

=1 fasedl § 99 981 SAX &1 999 &
(1) Faa CdRB  (2) &aw DRE
(3) %had A (4) *a@ B
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fFefofae HEsT ear7 @ a2 -

Read carefully the following instructions :

6.

10.

11.

12.

13.
14.

15.

16.

17.

T TR 89X, gdeedt et/ sid Se ¥ gd ST
U (g ufaferty us shraies giatara ) shey FHideres
ohT TG WU S | Tdamedt 797 Trer wo giedeht oFf 5
e B

39 Yfeht T Tehd & 16 | I8 Gafyea ool foh
T GahT ol Hohd, IAL TR oh Jo1 Afdfoiia ag a1
T Hehd | fherar €1 e Ig fust 2 ot wdameff gud
e giadet 3R SR U3 o1 & fag fdes i i
TS AW |

Tiremedf gifeea i foh 39 S 9= =01 Arer 7 S
IH W 377 T2 9 e | qleqeft s1aen STk
¥ gfkenl/Ia 99 § Fuifa Tum & sifafed s==
=1 ferd |

I 9 W frdft ghR & HeeE Y =R KES F
TART St AT T 2 |

IS 9 W Y glanefl, et =1 79 gae-ua
fe@md |

g arefteren a1 e w1 foR e1gafa & foa =8
Thefeft ST T A B |

HE@ e &1 e19A1 3w U feu faqr wa
Iufkerfd-—us/es 9 g saR (T % 91) feRg
fomr g adeneff gdan sfa &1 |t afe feer
gitgrrell § gET IR SufEeIfd-usah UX e TE@
ferT ot o AT ST foh Sae AU @ e g
SR TE o |rer Sht JIHET WET ST |
I eh / BXA=TeId Uiisheteh hl SUANT Afid B |
T{eT-ReT/ BT W A0 o fag udemedl, adem &
i wd faframi gro frafaa € sfea wem &
goft A =1 aen 59 Tdet o i wd fafazdi &
SR EN

feret TromTa & uder gfcent i SR U &t &g
W ST AR

et gRent / AU | fau T gden gRent Seohd &l
Tdaneff T aler ¥ sufeafa-uwe § foag |

A = 9 fire @t srafy &l alien % fag o g
Ut fFe @1 gfaqie @9 Yo fear s, 9
g eredt (S ferew & fou smdife &0 @ ergem
1), BhIES BT IUART HIAT & a1 Tel |

6.

~]

10.

11.

12.

13.
14.

15.

16.

17.

On completion of the test, the candidate must
hand over the Answer Sheet (ORIGINAL and
OFFICE Copy) to the Invigilator before leaving
the Room/Hall. The candidates are allowed to take
away this Test Booklet with them.

The CODE for this Booklet is T 6. Make sure
that the CODE printed on the Original Copy
of the Answer Sheet is the same as that on
this Test Booklet. In case of discrepancy, the
candidate should immediately report the matter to
the Invigilator for replacement of both the Test
Booklet and the Answer Sheet.

The candidates should ensure that the Answer
Sheet is not folded. Do not make any stray marks
on the Answer Sheet. Do not write your Roll No.
anywhere else except in the specified space in the
Test Booklet/Answer Sheet.

Use of white fluid for correction is NOT permissible
on the Answer Sheet.

Each candidate must show on-demand his/her
Admit Card to the Invigilator.

No candidate, without special permission of the
centre Superintendent or Invigilator, would leave
his/her seat.

The candidates should not leave the Examination
Hall without handing over their Answer Sheet to
the Invigilator on duty and sign (with time) the
Attendance Sheet twice. Cases, where a
candidate has not signed the Attendance
Sheet second time, will be deemed not to
have handed over the Answer Sheet and
dealt with as an Unfair Means case.

Use of Electronic/Manual Calculator is prohibited.
The candidates are governed by all Rules and
Regulations of the examination with regard to their
conduct in the Examination Room/Hall. All cases
of unfair means will be dealt with as per the Rules
and Regulations of this examination.

No part of the Test Booklet and Answer
Sheet shall be detached under any
circumstances.

The candidates will write the Correct Test Booklet
Code as given in the Test Booklet/Answer Sheet
in the Attendance Sheet.

Compensatory time of one hour five minutes
will be provided for the examination of three
hours and 20 minutes duration, whether such
candidate (having a physical limitation to
write) uses the facility of Scribe or not.
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